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INSTRUCTIONS 

 

   

 

    

 

1.   Answer all the questions. All questions carry one mark each 
 
2.   Since all questions are compulsory, do not try to read through the whole    
      question paper before beginning to answer. 
 
3.   Begin with the first question and keep on trying one question after another 
 till you finish all the question. 

 
4.   If you do not know the answer to any question, do not spend much time on 
 it but pass on to the next one. Time permitting, you can come back to the 
 questions which you have left  in the first  instance and try them again. 

 
5. Since the time allotted to this question paper is very limited, you should 
 make  the best use of it by not spending too much time on any one 
 question. 

 
6. Separate sheets have been provided for rough work in the Question 
 Booklet itself. 

 
7. The answers should be marked on a separate answer sheet provided in 
 the Examination Hall. 

 
8. The answer sheet has two parts corresponding to Part – I and Part –II of 
 the Test. 

 
9.  Answer to each question is to be indicated by shading the number of the 
 correct choice in the answer sheet with black ballpoint pen from amongst 

 the ones given for the corresponding question in the test booklet. 
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(Question nos: 01-02) 
Direction: In each of the following questions, a number /alphabets series is given 
with one term missing. Choose the correct alternatives that will continue the same 

pattern and replace the question mark. 
 

1.7, 13, 25, 45, 75, ? 
 

1) 117  2) 153   3) 209   4)123 

 
2. QLR, JPD, RNU, GNC, SPX, DLB, __ 

 
1) AJA  2) BTU  3) KJE  4) TRA  

 
(Question nos: 03-04) 
Direction: The first pair of numbers /words bear a certain relationship. The same 

relationship is required to be found in the other pair in which one number /word 
is missing .find that number   

 
3.    583 : 293 : : 488 : ? 

 
         1) 291                      2) 378                 3) 487              4) 581 

  
4.   Peacock : India :: Bear : ? 
 

         1) Australia              2) America          3) Russia          4) England 
 
 
(Question no: 05-06) 
Direction: In each of the following questions some letters are missing. The missing 
letters are in a sequence as one of the alternatives among the four given under 
each question. Find out the correct alternatives. 

 
5. cccbb_aa_cc_bbbaa_c 

  1) aaba                 2) baca        3) baba          4) acba 

 
6. ba_ba_bac_acb_cbac 

           1) aacb             2) bbca                3) ccba         4) cbac 
 
(Question nos: 07-11)  
Direction: In each of the following question the actual alphabets letters are 
replaced by certain other alphabets /numbers according to some rule to form its 

code. identify the rule and find out the correct code. 
 
7. ‘ Hyderabad ’ is coded as ‘Ixedszcze’ then ‘Chennai’ is coded as.............. 
 
           1) dgfmozj         2) fbacdek       3) lmnokpj          4) tvmnsop 

 

PART I 

MENTAL ABILITY TEST – NOVEMBER 2019 

Duration: 2 hours                                                                                                      Max Marks:100  

1011 
 



2 

 

8. If in a certain code, TEACHER is written as VGCEJGT, how would  

    DULLARD be written in the same code?   

 

       1) FWMNCTF  2) FWNNBTE        3) FWNNCSF         4) FWNNCTF 

 

9. In a certain code FLOWER is coded as 36 and SUNFLOWER is coded as 81,  

    then how to code FOLLOWS? 

 

        1) 42           2) 49                3) 63                     4) 36 

 
10.  If P denotes +, Q denotes *, R denotes / and S denotes -, then                                    
       18 Q 12 P 4 R 5 S 6 = ? 

 
          1) 36          2) 53                 3) 59                      4) 65 

 
11. In a certain code language, '+' means '*', '*' means '-', '-' means '/' and '/'       

      means '+' then 16 * 4 / 4 + 14 – 2 = ? 
    1) 56          2) 28                3) 40                       4) 112 

 
(Question nos: 12-15) 
Direction: In each of the following questions a matrix of certain characters is 

given. These characters follow a certain trend row-wise or column-wise. Find out 
the missing characters/value. 

 
12. Which number replaces the question mark? 
 
 
 
 
 
 
 
 
 
 

1) 24    2) 23    3) -23    4)15 
 

13. Which number replaces the question mark?  
 
 

 
 
 
 
 
 
 
 
 

1) 12   2) 10      3) 9       4) 16 
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14. Which picture does this shape make? 

 
 
 
 
 
 
 
 
 
 
 
 

1) B   2) A     3) D     4) C 
 

 
15. Which letter replaces the question mark? 

 
 

 
 
 
 
 
 
 
 
 
 

1) P     2) Q        3) R      4) S 
 
(Question nos: 16-19) 
Direction: In each of the following questions, you are given a figure (X) followed by 

four alternative figures (1), (2), (3) and (4) such that figure (X) is embedded in one 
of them. Trace out the alternative figure which contains fig. (X) as its part. 
 

 
16. 
 
 
 
 (X)                (1)         (2)         (3)        (4) 
  

       1) 1   2) 2   3) 3   4) 4 
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17.  
 
 
       
   (X)              (1)         (2)        (3)        (4) 
 

 1) 1   2) 2   3) 3   4) 4 
 
 

18.  
 
 
       
  (X)                (1)        (2)        (3)        (4) 

   
 1) 1   2) 2   3) 3   4) 4 

 
19.  

 
 
 
   (X)              (1)         (2)         (3)        (4) 

 
 

 
(Question nos: 20-22) 
Direction: Find which one of the four/ Third figures on the right should come 

next. 
 
20. 
 
 
 
 
 
 1) 1           2) 2          3) 3          4) 4 

 
 
  
 
21. 
 
 
 
 
 
 
       1) 1              2) 2           3) 3       4) 4 

 

 1) 1   2) 2   3) 3   4) 4 
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22. 
 
 
 
 
 
 
            1) 1              2) 2          3) 3          4) 4 
 
23. Count the number of triangles and squares in the given figure. 
 

 
 
     1) 44 triangles, 10 squares             2) 14 triangles, 16 squares   

      3) 27 triangles, 6 squares                     4) 36 triangles, 9 squares 
 
(Question nos: 24-25) 
Direction: Find out which of the figures (1), (2), (3) and (4) can be formed from the 
pieces given in figure (X).  

 
24. 
 
 
 
 
 
         1) 1                        2) 2                     3) 3                              4) 4 
 

25. 
 
 
 
 
           1) 1                       2) 2                     3) 3                              4) 4 
 
(Question nos: 26-27) 
Direction: In each of the following questions, choose the correct mirror images of 
the given image of the Fig.(X) from amongst the four alternatives (1), (2), (3) and (4) 

given along with it. 
 
26. 
 
 
 
           X                  1       2          3          4 
 
      1) 1                     2) 2                     3) 3                              4) 4 
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27. 
 
 
 
            X                  1          2          3          4 
 
         1) 1                       2) 2                     3) 3                              4) 4 
(Question nos: 28-29) 
Direction: In each of the following questions, you are given a combination of 

alphabets and/or numbers followed by four alternatives (1), (2), (3) and (4). Choose 
the alternative which is closely resembles the water-image of the given 

combination. 
 
28. 
 
 
 

1) 1                        2) 2                     3) 3                              4) 4 

 
29. 
 
 
 
 

1) 1                        2) 2                     3) 3                              4) 4 

 
(Question nos: 30-31)  
 
30.  Choose the box that is similar to the box formed from the given sheet of 
 paper (X). 

 
 

       1) 1 and 2 only                     2) 2 and 4 only         
       3) 2 and 3 only            4) 1 and 4 only 
 
31.   

 
         1)1and 2only                            2)1and 3 only                 
         3) 3 and 4 only                         4) 1,2,3 and 4 only  
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32. ACEGI, JLNPR, SUWYA, KMOQS 

 1) LBGHI          2) LIFH                      3) YWXAC              4) BDFHJ 

 
33. Reading is Related to Knowledge in the Same Way Work is Related to -------- 
        1) Money   2) Employment          3) Experience       4) Engagement 
 

34. Select the Missing Alphabet Number  
      NAJ31 , BEF28, RAM31,-------- YAM31 
       1) RPA31           2) BRA30                    3) RPA30              4) PAR31 

 
35.  If A stands for ‘+’, B stands for ‘-‘, C stands for ‘X’, then, what is the     

       Value of (10C4) (1) (4C4) (B6)? 
       1) 30                     2) 60                         3) 50                   4) 56 

 
(Question nos: 36-37) 
Direction: Each of these questions given below contains three elements. These 

elements may or may not have some inter linkage. Each group of elements may fit 

into one of these diagrams at (1), (2), (3), (4), you have to indicate the group of 

elements which correctly fits into the diagrams. 

 

36.  Which of the following diagrams indicates the best relation between  
 Women, Mothers and Engineers? 

 
                                    
     

                          
       1)        2)                  3)       4) 

 
37.  Which of the following diagrams indicates the best relation between 

 Author, Lawyer and Singer? 

 1)       2)       3)      4) 

   

38.  Which of the following figures shown below, when folded along the dotted 
 lines, will form a pyramid-shaped box with a rectangular base? 

 

 

  1) a                          2) b                        3) c                        4) d 
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39.  Among the four answer figures, which one can be formed from the cut-out   
       pieces given below in the question figure?  

      

 

 

 

   

  1) a                          2) b                        3) c                        4) d 
 
(Question nos: 40-42) 

Directions: In each of the following questions, select the alternative in which the 
specified components of the problem figure are found? 
 

40.  Which one will replace the question mark? 

 
 

 

 

 1) 60                           2)50                      3)25                         4)21 
 

 

 
41.  Which one will replace the question mark? 

 
 
 

 

1) 33            2)38                     3)32                        4)37 

42. Which one will replace the question mark? 
 

 

 

 1) 660            2)670                    3)610                       4)690 
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(Question nos: 43-44) 
Direction: In each of the following questions, some groups of letters are given, all 

of which, except one, share a common similarity while one is different. Choose the 

odd one out. 

 
43. Choose the odd one out. 

1) YDWB   2) TKRI  3) QNOM  4) HLFJ 

 

44. Choose the odd one out. 

     1) OUSF   2) PIGS  3) TEPJ  4) XLPA 

 
 

(Question no: 45-50) 
Directions: Answer the following questions 
 

45. A father tells his son, "I was of your present age when you were born". If     
      the father is 36 now, how old was the boy five years back? 
 

         1)13                     2)15              3)17                        4)20 
 
46. A, B, C, D and E play a game of cards. A says to B, "If you give me three  
      cards, you will have as many as E has and if I give you three cards, you  

      will have as many as D has." A and B together have 10 cards more than  
      what D and E together have. If B has two cards more than what C has     
      and the total number of cards be 133, how many cards does B have? 

 1)22             2)23                 3)25                4)35 
 

47.  What is the smallest number of ducks that could swim in this formation  
       -two ducks in front of a duck, two ducks behind a duck and a duck  

       between two ducks? 
 1) 3                  2) 5                      3) 7                     4) 9 
 

48.  A shepherd had 17 sheep. All but nine died. How many was he left with? 
         1)7                   2) 8                      3) 9                     4)17 

 
49.  Aruna cut a cake into two halves and cuts one half into smaller pieces of  

       equal size. Each of the small pieces is twenty grams in weight. If she has    
       seven pieces of the cake in all with her, how heavy was the original cake ? 
        1)120 gms              2)140 gms             3) 240 gms              4) 280 gms  

 
50.  A tailor had a number of shirt pieces to cut from a roll of fabric. He cut  

       each roll of equal length into 10 pieces. He cut at the rate of 45 cuts a  
       minute. How many rolls would be cut in 24 minutes? 

        1)32 Rolls               2) 54 Rolls             3) 108 Rolls            4) 120 Rolls   
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(Question nos: 51-55) 
Directions: In each of the following questions, the problem figures is a pattern 
with a portion missing. Identify that portion from among the four answer figures. 

51. 

 

 

 

 

 

1) 1 2) 2 3) 3 4) 4 

52. 

 

 

 

 
 

1) 1 2) 2 3) 3 4) 4 

 

53.  

 

 

 

 
 
1) 1 2) 2 3) 3 4) 4 

 

 

 

54. 

 

 

 

 

1) 1 2) 2 3) 3 4) 4 

 

 

1011 



11 

 

55. 

 

 

 

 

 

1) 1 2) 2 3) 3 4) 4 

(Question nos: 56-57) 

Directions: In each of the following the words on the left of:: symbol is related in 
some way. Similarly find the word that will make the same relation in place of ? 

56.  Music: Rhythm:: Design : ? 

 1) Symmetry  2) Technical  3) Architect  4) Building 

57.  Protein: Milk:: Nicotine : ? 

 1) Nectar  2) Tobacco  3) Coffee  4) Wine 

(Question nos: 58-62) 
Directions: The following diagram consisting of four overlapping figures represents 

four segments of leaders; the triangle represents rural, square females, the 
rectangle educated and the circle corrupt. study the diagram carefully and 

answer the questions. 
 

 
 

 
 
 
 
 

 

 
58. Rural female leaders who are corrupt but not educated represented by 

1) 1 and 4 2) 3 and 4 3) 4 4) 1 

59. Non-female rural leaders who are neither educate nor corrupt are  
      represented by 

1) 10, 11, 14 2) 10, 11, 12 3) 11, 14 4) 10, 11 

60. Non-female corrupt educated leaders are represented by 
1) 7 2) 7, 8 3) 12, 16 4) 7, 8, 16 
  
 

61. Neither corrupt nor educated non-female leader  are represented by 
1) 13, 9 2) 14, 11 3) 12, 13 4) 2, 3 
  
 

62. Neither educated nor corrupt rural non-female  leaders are  
      represented by 

1) 14 2) 14, 11 3) 11 4) 14, 10 
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(Question nos: 63-67) 

Direction: 

 63. If MADAM is coded as SOLOS, how is CIVIC coded as 

1) KAYAK 2) POLITE 3) REFINED 4) URBANE 
  

64. If BODY is coded as DQFA, what is the code for MIGHT? 
1) OKHTV 2) NJHIU 3) OKIJV 4) NJITU 
  

65. In a certain code VIM is coded as ADR, what will be the code for LAUNCH 
1) QVZIHC 2) GFPSXM 3) QFZSHM 4) GVPIXC 
 
  

66. If GUN is coded as KYR, what is the code for DOCTOR? 
1) HSGWSY 2) HSGXSY 3) HSGXSV 4) GRFWRU 
  

67. If GOLD is written as LSOF, then PACK is written as 
1) UFEM 2) TDGM 3) TEGM 4) VEFM 

 
 
68. Ramesh is 16 years of age. In four years’ time he will be twice as old   
      as Naresh was a year ago. How old is Naresh? 

1) 10 2) 8 3) 9 4) 11 

 
 

69. I go 20 m to the south of my house then turn to east, I go 10 m then  
      I turn to the north to go 30 m. How much distance away am I from  
      my house?  

        1) 5√2 m     2) 10√2 m   3) 15√2 m 4) 20√2 m 
 

70. Five girls are sitting in a row. Pratima is on the right of Mona. Nidhi  
      is on left of Mona., but is right of Natasha. Pratima is on the left of  

      Anu. The girl on the extreme left is 
1) Anu 2) Natasha 3) Pratima    4) Nidhi 

 

71. In a queue Sohan is 9th from the back. Ramesh place is 8th from the  

      front. Radha is standing in between the two. What could be the  

      minimum number of boys standing in the queue? 

1) 8 2) 10 3) 12  4) 14 

 

72. Roma is Jatin’s sister. Mona is Jatin’s mother. Dev is Mona’s father.  
      Lalita is Dev’s mother. How is Roma related to Lalita? 

1) Daughter  2) Granddaughter 3) Grandmother 4)Great granddaughter 

 

73. I walked 10 metres towards the east of my house. Then turned north  

      and walked 15 metres straight, then I turned West and walked10  

      metres. How far am I from my house now? 

1) 10 metres 2) 15 metres 3) 25 metres  4) 35 metres 
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74. I am facing East. Turning to the right I go 30 m, then turning to the  

      left I go 30 m, and then turning to the right I go 60 m, and then  

      again I go 60 m to the right. In which directions am I from my  

      original position. 

1) East 2) North West 3) North 4) South West 

75. What is the number of straight lines and the number of triangles in the given     

      figure?. 

 

 

 

 

1) 10 straight lines and 34 triangles  2) 9 straight lines and 34 triangles  

3) 9 straight lines and 36 triangles   4) 10 straight lines and 36 triangles  

76.  Find the wrong number in the series: 

       445, 221, 109, 46, 25, 11, 4 

1) 221   2) 109   3) 46    4)25  
 

(Question nos: 77-80) 

Direction to Solve: P, Q, R, S, T, U, V and W are sitting round the circle and are 

facing the centre: 
1. P is second to the right of T who is the neighbour of R and V. 

2. S is not the neighbour of P. 

3. V is the neighbour of U.  

4. Q is not between S and W. W is not between U and S. 

77. Which two of the following are not neighbours? 
1) RV   2) UV   3) RP   4) QW 

78. Which one is immediate right to the V? 

1) P   2) U   3) R    4) T 

79. Which of the following is correct? 
1) P is to the immediate right of Q   2) R is between U and V 

          3) Q is to the immediate left of W  4) U is between W and S 
 

80. What is the position of S? 

  1) Between U and V                 2) Second to the right of P   
3) To the immediate right of W                   4) Data inadequate. 

 
81. A is B's sister. C is B's mother. D is C's father. E is D's mother. Then, how  

      is A related to D? 
1) Brother             2) Son                 3) Uncle                4) Son-in-law 
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82. Pointing to a person, a man said to a woman, "His mother is the only  

      daughter of your father." How was the woman related to the person?  
 1) Aunt                 2) Mother             3) Wife                 4) Daughter 
 
83.  A woman introduces a man as the son of the brother of her mother. How is  

       the man, related to the woman? 
 1) Nephew            2) Son                   3) Cousin        4) Uncle to Grandson 

 
84. The angle of elevation of a ladder leaning against a wall is 60° and the foot  

      of the ladder is 4.6 m away from the wall. The length of the ladder is: 
 1) 2.3m                2) 4.6m                  3) 7.8m           4) 9.2 m 
 

85. The simple interest on a certain sum of money for 2(1/2) years at 12% per  
      annum is Rs. 40 less than the simple interest on the same sum for 3(1/2)  

      years at 10% per annum. Find the sum. 
1) Rs. 600               2) Rs. 666            3) Rs. 780          4) Rs. 800 

 
(Question nos: 86-88) 
 
Directions: 
86. If banana is apple, apple is grapes, grapes is mango, mango is nuts, nuts is  

      guava, which of the following is a yellow fruit? 
1) Mango               2) Grapes                3) Apple            4) Nuts 

 
87. If clock is called television, television is called radio, radio is called oven,  
      oven is called grinder and grinder is called iron, in what will a lady bake? 

1) Radio                2) Oven                 3) Grinder           4) Iron 
 

88. If rat is called dog, dog is called mongoose, mongoose is called lion, lion is  
      called snake and snake is called elephant, which is reared as pet? 

1) Rat                    2) Dog                  3) Mongoose         4) Lion 
 

(Question nos: 89-91) 
 
Direction: In each of the following questions find out the alternative which will 

replace the question mark. 
 

89. kEAc: cAEk:: xGMf : ? 
 1) GmcF  2) FmgX   3) EgmX  4) EmgF  
 

90. MXN: 13 x 14:: FXR : ? 
1)14X15                2) 5X17                      3) 6X18            4)7X19 

 
91. REASON: SFBTPO::THINK : ? 

1) SGHMJ             2) UIJOL                    3) UHNKI          4) UJKPM 
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(Question nos: 92-96) 
Direction: In each of the following problems, a square transparent sheet (X) with a 

pattern is given.  
92. Figure out from amongst the four alternatives as to how the patter would   

      appear when the transparent sheet is folded at the dotted line. 
  

 
 
     

    (X)               (1)            (2)            (3)            (4) 

1)1                    2)2                          3)3                            4)4 

93. Find out from amongst the four alternatives as to how the pattern would  
      appear when the transparent sheet is folded at the dotted line. 

 
             
 

 
              (X)               (1)             (2)             (3)             (4) 

 1) 1                     2) 2                       3) 3                           4) 4 
 

94. Find out from amongst the four alternatives as to how the pattern would  
      appear when the transparent sheet is folded at the dotted line. 
 

 
 

               (X)                   (1)             (2)             (3)              (4) 
 

 1)1                  2) 2                      3) 3                        4) 4 
 
95. Find out from amongst the four alternatives as to how the pattern would  

      appear when the transparent sheet is folded at the dotted line. 
 

 
 

 
     
     (X)                (1)             (2)             (3)             (4) 

 
 1) 1                          2) 2                                 3) 3                    4) 4 

 
96. Find out from amongst the four alternatives as to how the pattern would  

       appear when the transparent sheet is folded at the dotted line. 
 
    

     
 

             (X)                (1)             (2)             (3)             (4) 
 

 1)1                    2)2                    3)3                            4)4 
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97. Rakesh scored more than Raju 

      Ravi scored less than Rakesh 
      Raju scored more than Ravi 

      Ranga scored more than Raju but less than Rakesh 
      Then who is the top scorer among them? 

1) Rakesh          2) Raju                     3) Ravi             4) Ranga 
 
98. The difference between the place value and the face value of 7 in the numeral  

      967452 is  
 1) 6393  2) 5831   3) 6993  4) 6339 

 

99. How many numbers up to 300 and 700 are divisible by 2, 3 and 7 both    

      together? 

1)7                    2)9                            3)11                 4)5 

 

100. A pupil's marks were wrongly entered as 83 instead of 63. Due to that the  

        average marks for the class got increased by half (1/2). The number of  

        pupils in the class is: 

1)10           2)20                            3)40                    4)7                   
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9.   Answer to each question is to be indicated by shading the number of the  

       correct choice in the answer sheet with black ballpoint pen from amongst       
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SCIENCE 
 

1.  The least count (LC) of a Vernier Caliper is 0.01 cm and that of screw gauge is 0.01 cm.    

     Which one is more precise? 

 1) Screw Gauge   2) Vernier Caliper   3) Both are not precise    4) Both are equally precise 

2.  The velocity - time graph of an object moving along a straight line is as shown in the figure. 

     The distance covered by the object between t= 0 to 4 s is _____ 

 

 1) 80m   2) 60 m   3) 40 m   4) 20 m 

3.  A person of 60 N weights descends in a lift with acceleration 2ms-2. The cable of lift 

 Suddenly breaks down. The weight of the person inside the lift is 

        1) 58N   2) 0N    3) 30 N   4) 62N  

4.  A boat having a length 3 m and breadth 2 m is floating on a lake. If the boat sinks by 1 cm 

 When a man gets on it then the mass of the man is 

 1) 120 kg  2) 60 kg  3) 72 kg  4) 80kg 

5.  The work done to move a unit positive charge from a wire at 100V to another wire at 100V is 

 1) 0J   2) 25 J  3) 50J   4)200J 

6.  A wire of resistance 8 R is bent in the form of a circle as shown in the figure. What is the  

 Effective resistance between the ends of the diameter AB? 

 

  1) 2 R   2) 4 R   3) 8 R   4) 16 R 

7.  The magnetic lines of force inside a magnet is from 

 1) North to South  2) South to North  3) East to West  4) West to East 

PART II 
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Duration: 2 Hours                                                                                                           Max Marks: 100 
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8.  The mirror which produces the magnifications of m> -1, m < -1 and m > +1 is ____ 

   1) Convex mirror 2) concave mirror 3) plane mirror 4) spherical mirrors 

9.  If the top half of a convex lens is covered with black paper, then 

        1) The bottom half of image will disappear  2) The top half of the image will disappear 

        3) The magnification will be reduced to half  4) The intensity will be reduced to half 

10.  The temperature at which Celsius and Fahrenheit scale thermometers read the same value is 

        1) 40o   2) - 40o   3) 45o   4) 50o 

11.  A boy in a hill station calls his mum but she could not guess from where her ward calls  

 due to reverberation. This is because of the distance between the boy and the hill is less than 

        1) 34 m   2) 27 m             3) 17 m  4) 5 m 

12.  The shooting star is a ______ 

        1) An asteroid   2) a star  3) a piece of celestial rock entering earth‟s atmosphere   4) a comet 

13.  Find the unmatched pair 

      1) Fertilizer             -       Phosphorus 

      2) Computer Industry  - Silicon  

      3) Toothpaste  - Fluoride  

      4) LPG    - Butane and Methane 

14.  The below figure represents 

 

       1) Isotopes   2) Isobars   3) Isotones   4) Isomers 

15.  The mass percentage ratio of Carbon and Hydrogen in Methane is 

       1) 1: 4   2) 4: 1   3) 1: 3   4)3: 1 

16.  Match the following 

       i) 69g of Na             -  a) 0.25 moles 

       ii) 11.2 litres of O2            -  b) 3 moles 

       iii) 12.046 x 1023 atoms of Fe      - c) 0.5 moles 

  iv) 1.5 x 1023 molecules of H2O     - d) 2 moles 

       1) i – b, ii – c, iii – d, iv – a   2) i – c, ii – d, iii – a, iv – b 

       3) i – d, ii – c, iii – b, iv – a  4) i – a, ii – c, iii – d, iv – b 

17.  The element Arsenic has the properties of 

        1) Metals    2) Non-metals    3) Metals and Non-metals    4) neither metal nor non-metal 

18.  During extraction of iron roasted ore, coke and limestone are mixed and smelted in the ratio 

        1) 4: 2: 1   2) 1: 2: 4        3) 8: 4: 1   4) 1: 4: 8 
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19.  Find the odd one out based on the composition of metals  

        1) Brass   2) Bronze     3) Duralumin              4) Magnalium 

20.  The oxidation number of Chromium in K2Cr2 O7 is 

        1) + 6  2) - 6     3) + 2   4) - 2 

21.  Match the following 

Colour of flame   Inference 

       i) Brick red   - a) Zn 2+ 

       ii) Golden yellow  - b) K + 

       iii) Pink violet             - c) Na + 

    iv) Green fleshes  - d) Ca2+ 

        1) i – d, ii – a, iii – c, iv – b   2) i – c, ii – d, iii – a, iv – b 

        3) i – b, ii – c, iii – d, iv – a  4) i – d, ii – c, iii – b, iv – a 

22. Among the following resin codes which plastics are unsafe? 

        1) 1 and 2   2) 2 and 3   3) 3 and 4  4) 3 and 6 

23. The groups responsible for the colour of an organic compound is called ________ 

        1) Isotope  2) Auxochrome  3) Chromogen  4) Chromophore 

24. Pick out the odd one out depending on nature of the substance .  

       1) Silica gel   2) Quick lime  3) Con. H2SO4  4) NaOH 

25.  Biochemical substance derived from leech saliva used as the medicine for____________ 

    1) Hyper tension     2) Diabetics      3) Jaundice     4) Goitre 

26. Matching                                                                                  

               A.                                       B 

 a) neurogenic.                         i) vertebrate.       

 b) myogenic.                          ii) contraction 

 c) Systole.                              iii) relaxation 

 d) diastole.                             iv) annelids 

       1) a-iv, b-i, c-ii, d-iii         2) a-i, b-ii, c-iii, d-iv 

       3) a-iii, b-i, c-iv, d-ii         4) a-ii, b-iii, c-iv, d-i 

27. 

 

  

  

 

 

 

       From the above diagram fill the boxes 

      1) H2O, glucose       2) O2, H2O   3) H2O, sucrose  4) Fructose, CO2 
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28.  Which Ray is used to induce desirable mutations in crop plants                   

        1) Beta rays.         2) Ultraviolet rays       3) Gamma rays           4) Alpha rays 

29.  ______is the instrument which records the electrical impulses of brain                    

       1) Electroencephalogram.                2) Electrogram 

       3) Electroepicephalogram    4) Electro echogram 

30.  Thyroid gland requires ____of iodine every day for the production of thyroxine.           

       1)120 µg             2)150 µg            3)200 µg            4)125 µg 

31.  Matching.                                                                                                                                     

              A.                                     B 

 a) Parenchyma tissue.           i) protection 

 b) Chlorenchyma tissue.       ii) support 

 c) Collenchyma  tissue.         iii) photosynthesis 

 d) Sclerenchyma tissue.        iv) food storage 

   1) a-iv,b-iii,c-i,d-ii       2) a-ii,b-iv,c-iii,d-i 

 3) a-iii,b-ii,c-i,d-iv     4) a-i,b-iii,c-iv,d-ii 

32.  Which act as aging clock in every cell                                                                                             

       1) Centromere       2) Telomere      3) Metamere       4) Anamere 

33.  Archeopteryx is the oldest known________.                                                                             

  1) Fossil bird       2) Fossil reptile      3) Fossil animal       4) Fossil snake 

34. ___________ Promote the elongation of stems.                                                                    

  1) Auxins       2) Coleoptiles       3) Cytokinin        4) Zookinin 

35.  Storage function is done by 

        1) Parenchyma     2) Collenchyma       3) Schlerenchyma     4) Schlerids. 

36.  Which one of the following is not a monosaccharide? 

        1) Glucose       2) Sucrose      3) Fructose        4) Galactose 

37.  Which element is rich in bananas? 

         1) Calcium        2) Sodium      3) Potassium        4) Iodine 

38.  Which of the following is a double antigen? 

 1) MMR         2) DT       3) TAB        4) BCG 

39.  Which organisation supports conservation of Nature? 

        1) UNO        2) UNESCO      3) IUCN        4) WHO 

40.  Which is the hydrophyte that lacks roots? 

        1)  Hydrilla       2)  Vallisneria     3) Eichhornia       4) Wolfia 
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SOCIAL SCIENCE 

41.  Naval battle of 1916 in North Sea is called___________ 

        1) Battle of First Balkan    2) Battle of Second Balkan    

        3) Battle of Jutland     4) Battle of Verdun                                                  

42.  Due to which treaty, Russia withdrew from the First World War? 

 1) Treaty of Versailles    2) Treaty of Bucharest  

 3) Treaty of London   4) Treaty of Brest-Litovsk                                                                 

43.  Mandela was imprisoned for _______ years 

1)29         2) 28      3) 27           4) 26                                                              

44.  Who wrote the pamphlet, “French Colonialism on Trial”? 

 1) Hochi Minh     2) Mao Tsetung    3) Herzog       4) Smuts           

45.  Which party played a major role in the formation of Weimar Republic? 

       1) Nazi party      2) Fascist party  3) Social Democratic party    4) Unionist party                         

46.  The city at the back of Volga was__________ 

1) Berlin      2) Munich    3) Stalingrad        4) Danzig                                              

47.  North and South Vietnam united in __________ 

1)1975                2) 1976     3) 1973          4) 1974                                                 

48.  First President of Palestine was ____________ 

 1) Nasser    2) Saddam Hussain    3) Hafez-Al-Assad       4) Yasser Arafat                              

49.  As a counter to the NATO, Soviet Union made________ 

         1) NATO PACT    2) WARSAW PACT       3) CENTO PACT  4) SEATO PACT                              

50. “SATI” was abolished in_______________ 

         1)1827     2) 1829           3) 1826   4) 1828                                          

    51.   ______________ River is known as the Sorrow of Bihar  

         1) Narmada      2) Godavari   3) Kosi   4) Damodar                       

 52.   The Pamir Knot is popularly known as the _______________ 

          1) Roof of the world   2) Roof of India  3) Abode of Snow  4) Eastern Himalayas                     

 53.   The Indian Board for Wild Life was constituted in _______________ 

            1) 1950   2) 1962   3) 1953   4) 1952                                          

 54.   Seshachalam Hills Biosphere Reserve is located in ____________ 

            1) Odisha     2) Andhra Pradesh    3) Tamilnadu    4) Kerala                              
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 55.   The largest dam in the world is ___________ 

            1) Mettur dam    2) Kosi dam    3) Hirakud dam   4) Bhakra-Nangal dam                   

 56.   The city which is called as the Manchester of South India is _____________ 

            1) Chennai   2) Salem    3) Madurai    4) Coimbatore                                

 57.   Tata Iron and Steel industry is located in ___________ 

             1)  Odisha   2) Jharkhand    3) Tamilnadu     4) Chhattisgarh                       

 58.    The first nuclear power was commissioned in ________________ 

             1) Gujarat    2) Rajasthan   3) Maharashtra    4) Tamilnadu                           

 59.   The word “citizen” is derived from ________ language. 

            1) Greek      2) English     3) Latin      4) Spanish                                     

 60.   Under which article state emergency can be proclaimed? 

            1) Article 352 2) Article 356  3) Article 360  4) Article 368         

   61.   At present the Supreme Court of India consists of ______________judges including  

         the Chief Justice.  

               1)30   2) 25    3) 28    4) 32                                              

   62.    India is_________________ fastest growing nation in the world     

     1) Fourth   2) Fifth    3) Sixth    4) Seventh                                      

   63.   The headquarters of WTO is located at __________ 

       1) Geneva   2) New York    3) London     4) Paris                                          

 64.   Indian government introduced __________ in 1991 

   1) Globalization         2) World Trade Organization    

   3) New Economic Policy      4) All of these  

 65.   The period called _________ marks the beginning of agriculture and animal domestication 

  1) Paleolithic          2) Mesolithic   3) Neolithic         4) Megalithic                  

 66.   Which sailor was the first to cross the equator? 

    1) Henry, the navigato     2) Lopo Gonzalves   

3)Bartholomew Diaz    4)Christopher Columbus                                               

 67.   The region of terror ended with the fall of________    

1) Danton       2) Herbert       3) Napoleon.          4) Robespierre 

 68.   Who invented the sewing machine? 

  1) Elias Howe     2) Eli Whitney    3) Samuel Crompton     4)Humphry Davy 
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 69.   An example of sleeping volcano is_________ 

1) Mounaloa, Hawaii       2) Mount St. Helen's US.     

3) Mt.Fuji, Japan.     4) Paricutin, Mexico  

 70.   Which is the highest waterfall in the world? 

1) Nayagra.       2) Jog.           3) Angel.       4) Victoria 

 71.   Which one of the following is a second order landform? 

1) Asia     2) Deccan Plateau        3) Kulu Valley   4) Marina Beach 

 72.   The diameter of a raindrop is more than_______mm 

1) 3       2)4            3) 5      4) 6 

 73.   During sunset Cirrus clouds look colourful like_____ 

           1) Mare's Tails.      2) Sheep clouds.       3) Cauliflower.    4) Woolpack clouds  

 74.   National Institute of Oceanography was established in_______ 

            1) 1964          2) 1965               3) 1966              4)1967                                         

 75.   NOTA was first introduced in General Elections held in the year 

           1)2012     2) 2013         3) 2014       4) 2015                                         

 76.   As on 2017 the numbers of recognized National parties are _________ 

            1)10       2) 7            3) 12      4) 8                                                

 77.   Who is called “Father of Local Government”?  

            1) Lord Canning    2) Lord Rippon     3) Lord Curzon      4) Lord Dalhousie                        

 78.    Leading solar power producing state in India is ________ 

             1) Kerala      2) Tamilnadu       3) West Bengal          4) Andhra Pradesh                     

 79.    Credit card was invented by________ 

  1) Edwin      2) John Biggins      3) Gilbert        4) David                                     

  80.   The National Remote Sensing Centre (NRSC) is located at______ 

             1) Bengaluru.    2) Chennai.        3) Delhi                  4) Hyderabad 

 

MATHEMATICS 

81. If N is the sum of first 13,986 prime numbers, then N is always divisible by 

1)4   2)6    3) Odd number     4)8 

 

  82. Find the value of a in the following  =a  -   

1)                         2)              3)                     4)   
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 83.  If ( )5 x 92 = 3n x 3  Then the value of n is 

           1)  2   2) 3     3)4        4)5 

 84. The value of log2 (log5625) is 

1) 2    2)5     3)10        4)15 

 85. Value of 𝒙 satisfying  +  = 5 is 

1) 6   2)7    3)8        4)9 

 

 86. A two digit number is obtained by either multiplying sum of the digits by 8 and adding  

1 or multiplying the difference of the digits by 13 and adding 2. The number is 

1) 31                     2)41    3)51        4)61 

 

 87. The sum of 11 terms of an A.P. whose middle term is 30 is 

1) 320   2)330    3)340         4)350 

 

 88. If A=  B=  and AB=BA then find the value of p 

1) 4   2)-4    3)3         4)-3 

 

 89. If the points A(3,5) and B(1,4) lie on the graph of the line a𝒙 + b𝒚 = 7 Then the sum of  

        the value of „a‟ and „b‟ is 

1) 1   2)0    3)-1   4)2 

 90.  The points A(-4,-1), B(-2, -4), C(4,0) and D(2,3) are the vertices of a  

1) Parallelogram  2) Rectangle   3) Rhombus  4) Square  

 

 91.  Tan150 = 2 -  then the value of cot2750 is  

 1) 7 +   2)7 - 2     3)7 - 4    4)7 + 4  

 

 92.  If the supplement of an angle is three times its complement, the angle is 

1) 400   2)350    3)500   4)450 

 

 93.  The length of the side of a square whose diagonal is 16cm is 

1) 8  cm  2)2  cm   3)4  cm  4)2  cm 

 

  94.  Two circles of radii 20cm and 37cm intersect in A and B. If O1 and O2 are their centres  

         and AB=24cm then the distance between O1 and O2  is 

1) 44cm  2)51cm   3)40.5cm  4)45cm 

 

95.  The sides of a triangular plot area in the ratio of 3:5:7 and its perimeter is 300 m. Its  

       area is 

1)1500  cm2 2)1500  cm2  3)1425  cm2 4)1500 cm2 

 

96.  In parallelogram PQRS, PQ=10cm. The altitudes corresponding to the sides PQ and SP  

       are 6cm and 8cm respectively. Then SP is 

1) 2.5 cm  2)5 cm   3)7.5 cm  4)10 cm 
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97.  The line joining the centre of a circle to the midpoint of a chord is always 

          1) Parallel to chord      2) Perpendicular to chord    

3) Equal to chord      4) Tangent to the chord 

 

98.  A conical tent has a floor area of 154 sq.m. Its height is 24m how much canvas is  

       required for that tent? 

1) 700 sq.m.  2)550 sq.m.      3)500 sq.m    4)450 sq.m.  

 

99.  In a frequency distribution the mid value of a class is 10 and the width of the class is  

       6. The lower limit of the class is 

1) 6  2)7      3)8     4)12 

 

100. In a class 30% of the students offered English 20% offered Hindi and 10% offered  

        both. If a Student is selected at random, what is the probability that he has offered  

        English or Hindi? 

1)                    2)              3)                   4)      
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GJr;Nrup muR 
gs;spf; fy;tp ,af;ffk; 

tpdhr; rpw;NwL 
 

etk;gu; 2019 
 

gFjp – I 

ந஦த்தி஫மநத் ததர்வு 
 

Nju;T ika vz;:              Nju;T vz;: 
 

Fwpg;Gfs; 

   
 

    
 

1.   midj;J tpdhf;fSf;Fk; tpilaspf;fTk;. tpdhf;fs; xt;nthd;Wk; xU     
    kjpg;ngz;izf; nfhz;bUf;fpwJ. 
 
2.   midj;J tpdhf;fSk; fl;lhakhdjhy; tpilaspg;gjw;F Kd;G KO 
 tpdhj;jhisAk; gbf;f Kay Ntz;lhk;. 

 
3.   Kjy; tpdhitj; njhlq;fp tpdhit Kbf;Fk; tiuapy; xU tpdhTf;Fg; gpd; 

 xU tpdhthf tpilaspf;f KayNtz;Lk;. 
 
4.   VNjDk; tpdhTf;F tpil njupahtpl;lhy;> mjw;fhf mjpf fhyj;ijr; 

 nrytplhJ> mLj;j tpdhtpw;Fr; nry;y Ntz;Lk;. fhyk; fpilg;gpd; Kjypy; 
 tpilaspf;fhky; tpl;Lr; nrd;w tpdhf;fSf;F tpilaspf;f Kay Ntz;Lk;. 
 
5.   ,e;j tpdhj;jhSf;F xJf;fg;gl;bUf;Fk; fhyk; kpfTk; FWfpajhf ,Ug;gjhy; 

 ve;j  tpdhtpw;Fk; mjpf fhyj;ijr; nrytopf;fhky; KOepiw Kaw;rpia 
 mjw;fhf cgNahfpf;f Ntz;Lk;. 
 
6.   tpdhr; rpw;Nwl;bNyNa> cj;Njr Ntiyf;fhf filrp gf;fj;jpy; 

 ntw;Wj;jhs;fs; nfhLf;fg;gl;bUf;fpd;wd. 
 
7.   Nju;tiwapy; nfhLf;fg;gLk; jdp tpilj;jhspy; tpilfs; Fwpf;fg;gl 

 Ntz;Lk;. 
 
8.   gFjp – I> gFjp – II ,itfSf;Nfw;g tpilj;jhs; ,U gFjpfisf; 

 nfhz;Ls;sJ. 
 
9.   xt;nthU tpdhtpw;fhd rupahd tpilia nfhLf;fg;gl;litfspypUe;J 

 Nju;e;njLj;J> mjdpd; vz;iz tpilj;jhspy; fUg;G ghy;ghapd;l; 
 Ngdhtpdhy; epoypLjy; Ntz;Lk;. 
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லறிமுறம (லினா எண் 01-02) : பின்லரும் த ாடரில் லிடுபட்ட எண் அல்யது  

எழுத்ற க் கண்டுபிடி 

 

1.7, 13, 25, 45, 75, ? 
 

1) 117  2) 153   3) 209   4)123 

 
2. QLR, JPD, RNU, GNC, SPX, DLB, __ 

 
1) AJA  2) BTU  3) KJE  4) TRA  

 

லறிமுறம (லினா எண் 03-04 ): பின்லரும் லினாக்கரில் மு ல் ஜ ாடி஬ில் உள்ர 

த ாடர்பிறன கண்டமிந்து அஜ  த ாடர்புறட஬ அடுத்  ஜ ாடி஬ில் லிடுப்பட்ட எண் / 

லார்த்ற ற஬க் கண்டு஧ிடி. 

 

3.    583 : 293 : : 488 : ? 

         1) 291                      2) 378                 3) 487              4) 581 

  

4.   நனில் : இந்தினா :: கபடி : ? 

         1) ஆஸ்திப஬ினா       2) அமநரிக்கா          3) பஷ்னா          4) இங்கி஬ாந்து 
 

 

லறிமுறம (லினா எண் 05-06) : பின்லரும் லினாக்கரில் சிய எழுத்துகள் லிடுபட்டுள்ரன. 

லிடுபட்ட எழுத்துகள் லரிறசப்படி லிறடகரில் ஒழுங்குப்படுத் ப்பட்டு உள்ரன. சரி஬ான 

லரிறசப்படுத் ப்பட்ட லிறடற஬ ஜ ர்ந்த டுத்து எழுதுக. 
 

5. cccbb_aa_cc_bbbaa_c 

  1) aaba                 2) baca        3) baba          4) acba 

 

6. ba_ba_bac_acb_cbac 

           1) aacb             2) bbca                3) ccba         4) cbac 
 

லறிமுறம ( லினா எண் 07-11): பின்லரும் லினாக்கரில் ஒரு குமி஬ீட்டு முறம஬ில் 

ஒரு லி ிற஬ ப஬ன்படுத் ி எழுத்துகளுக்கு ப ியாக ஜலறு சிய எழுத்துகள் அல்யது 

எண்கள் ப஬ன்படுத் ப்படுகிமது. அலற்றம கண்டமிந்து சரி஬ான லிறடற஬த் 

ஜ ர்ந்த டுக்க. 

 

 7. ஒரு குநிப்திட்ட குநி஦ீட்டில்  ‘Hyderabad’ ஋ன்஧து ‘Ixedszcze’ ஋஦ ஋ழுதப்஧டுநா஦ால் 

‘Chennai’ ஋ன்஧து ஋வ்யாறு ஋ழுதப்஧டும்? 

           1) dgfmozj         2) fbacdek       3) lmnokpj          4) tvmnsop 
 
 

 

஧குதி - அ 

ந஦த்தி஫மநத் ததர்வு – ஥வம்஧ர் 2019 

கா஬ம் : 2 நணி                                           மநாத்த நதிப்ம஧ண்கள் : 100 
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8. ஒரு குநிப்திட்ட குநி஦ீட்டில் TEACHER ஋ன்஧து VGCEJGT ஋஦ ஋ழுதப்஧டுநா஦ால்,  

    DULLARD ஋ன்஧து  ஋வ்யாறு ஋ழுதப்஧டும்? 

       1) FWMNCTF  2) FWNNBTE        3) FWNNCSF         4) FWNNCTF 

 

9. FLOWER ஋ன்஧து 36 ஋஦வும் SUNFLOWER ஋ன்஧து 81 ஋஦வும் ஋ழுதப்஧டுநா஦ால்,      

    FOLLOWS  ஋ன்஧து ஋வ்யாறு ஋ழுதப்஧டும்? 

        1) 42           2) 49                3) 63                     4) 36 

 

10.  P ஋ன்஧து +, Q ஋ன்஧து *, R ஋ன்஧து / and S ஋ன்஧து -, ஋஦ில் 18 Q 12 P 4 R 5 S 6   

        ன்  நதிப்பு ஋ன்஦ ?. 
          1) 36          2) 53                 3) 59                     4) 65 
 

11. '+' ஋ன்஧து '*', '*' ஋ன்஧து '-', '-' ஋ன்஧து '/', '/'  ஋ன்஧து   '+' ஋஦ில், 16 * 4/4 +14 –2  

      ன் நதிப்பு ஋ன்஦? 

    1) 56          2) 28                3) 40                     4) 112 

 

லறிமுறம ( லினா எண் 12-15): பின்லரும் ஒவ்தலாரு ஜகள்லிகரிலும் சிய 
எழுத்துக்கரின் அணி லறங்கப்படுகிமது. இந்  எழுத்துக்கள் ஥ிமப அல்யது  நி஭ல் 
லரிறச லாரி஬ாக ஒரு குமிப்பிட்ட ஜபாக்றக பின்பற்றுகின்மன எனில், லிடுபட்ட 
எழுத்துக்கள் / ஫ ிப்றபக் கண்டமி஬வும். 
 

12. ககள்யிக்கு஫ிக்கா஦  ஧தில஬க் காண்க?  
 
 
 
 
 
 
 
 
 
 

1) 24    2) 23    3) -23    4)15 
 

13. ககள்யிக்கு஫ிக்கா஦ ஧தில஬க் காண்க?  
 
 

 
 
 
 
 
 
 
 

1) 12   2) 10      3) 9       4) 16 
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14. கீழ்க்கண்ட யடியத்லத மகாண்ட அட்லட ஋ந்த ஧டத்லத உருயாக்கும்?.  
 
 
 

 
 
 
 
 
 
 
 

1) B   2) A     3) D     4) C 

 
 

15. ககள்யிக்கு஫ிக்கா஦ ஧தில஬க் காண்க?  
. 

 
 
 
 
 
 
 
 
 
 
 

1) P     2) Q        3) R      4) S 
 

 

லறிமுறம (லினா எண் 16-19) : A, B, C  நற்றும்; D ல் உள்஭ ஧டங்க஭ில் எந்த ஧டத்தில்  
X ல் உள்஭ ஧டம் ப஧ொதிந்து (நம஫ந்து) உள்஭து?.  

 

16. 
 
 
 
  (X)                (1)         (2)         (3)        (4) 
  

       1) 1   2) 2   3) 3   4) 4 

  
17.  
 
 
       
   (X)              (1)         (2)        (3)        (4) 
 

 1) 1   2) 2   3) 3   4) 4 
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18.  
 
 
       
  (X)                (1)        (2)        (3)        (4) 

   
 1) 1   2) 2   3) 3   4) 4 

 
 
19.  

 
 
 
   (X)              (1)         (2)         (3)        (4) 

 
 

 

லறிமுறம ( லினா எண் 20-23): மகாடுக்கப்஧ட்டுள்஭ ஥ான்கு யிலடக஭ில் ஋து அடுத்து 
஬஧வ஬ண்டும் ஋ண வ஡ர்ந்த஡டுத்து ஋ழுதுக. 
20. 
 
 
 
 
 
 1) 1           2) 2          3) 3          4) 4 
 
 
  
21. 
 
 
 
 
 
 
       1) 1              2) 2           3) 3       4) 4 

 
 
 
22. 
 
 
 
 
 
 
            1) 1              2) 2          3) 3          4) 4 
 

 1) 1   2) 2   3) 3   4) 4 
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23. தகொடுக்கப்தட்ட தடத்஡ில் உள்ப முக்வகொ஠ங்கள் ஥ற்றும் சது஧ங்கபின் 
    ஋ண்஠ிக்ககக஦ கண்டு ஋ழு஡வும். 

 
 

 
     

 

1) 44 முக்வகொ஠ங்கள், 10 சது஧ங்கள்           2) 14 முக்வகொ஠ங்கள், 16 சது஧ங்கள் 

      3) 27 முக்வகொ஠ங்கள், 6 சது஧ங்கள்             4) 36 முக்வகொ஠ங்கள், 9 சது஧ங்கள் 
 

லறிமுறம ( லினா எண் 24-25): ஧டம் (X) ல் உள்஭ வடிவங்கம஭க் பகொண்டு 

பகொடுக்கப்஧ட்டுள்஭ ஧டங்கள் (1), (2), (3) நற்றும் (4) ஆகினமவகளுள் எதம஦ 

உருவொக்க஬ொம்? 

 
24. 
 
 
 
 
 
         1) 1                        2) 2                     3) 3                              4) 4 
 

25. 
 
 
 
 
           1) 1                       2) 2                     3) 3                              4) 4 
 

 

லறிமுறம (லினா எண்  26-27): பின்லரும் ஒவ்தலாரு ஜகள்லிகரிலும் , தகாடுக்கப்பட்ட 
(X) படத் ின் சரி஬ான கண்ணாடி பிம்பத்ற  அ னுடன் தகாடுக்கப்பட்ட நான்கு 
஫ாற்றுகரில் இருந்து ஜ ர்வுதசய்க.  
 

26. 
 
 
 
           X                  1       2          3          4 
 

      1) 1                     2) 2                     3) 3                              4) 4 

 
 
27. 
 
 
 
            X                  1          2          3          4 
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         1) 1                       2) 2                     3) 3                              4) 4 
 

 

லறிமுறம (லினா எண் 28-29): பின்லரும் ஒவ்தலாரு ஜகள்லிகரிலும் , உங்களுக்கு 
எழுத்துக்கள் ஫ற்றும்/அல்யது எண்கரின் கயறல஬ாகும் , அற த் த ாடர்ந்து நான்கு 
஫ாற்றுகள் ( 1), (2), (3) ஫ற்றும் ( 4) உள்஭஦. தகாடுக்கப்பட்ட கயறல஬ின் நீர்-படத்ற  
ஒத் ிருக்கும் ஫ாற்றமத் ஜ ர்வுதசய்க. 

 

28. 
 
 
 

1) 1                        2) 2                     3) 3                              4) 4 
 
29. 
 
 
 
 

1) 1                        2) 2                     3) 3                              4) 4 
 

 

 

லறிமுறம ( லினா எண் 30-31): தகொடுக்கப்தட்ட ஡ொள் (X) னிருந்து உரு஬ொக்கப்தட்ட 
ததட்டிக஦ ஒத்஡ ததட்டிக஦த் வ஡ர்வுதசய்க. 
 

30.   

 
 

       1) 1 ஥ற்றும் 2 ஥ட்டுவ஥                    2) 2 ஥ற்றும் 4 ஥ட்டுவ஥        

       3) 2 ஥ற்றும் 3 ஥ட்டுவ஥            4) 1 ஥ற்றும் 4 ஥ட்டுவ஥ 

 
 

31.   

 
         1) 1 ஥ற்றும் 2 ஥ட்டுவ஥    2) 1 ஥ற்றும் 3 ஥ட்டுவ஥ 

         3) 3 ஥ற்றும் 4 ஥ட்டுவ஥    4) 1,2,3 ஥ற்றும் 4 ஥ட்டுவ஥ 
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32. ACEGI, JLNPR, SUWYA, KMOQS 
 1) LBGHI          2) LIFH                      3) YWXAC              4) BDFHJ 

 

33. தடித்஡ல் ஋ன்தது அநிவுடன் த஡ொடர்புகட஦து,   அவ஡ ஬஫ி஦ில் வ஬கன ஋தனுடன் 

     த஡ொடர்புகட஦து?  

        1) ஧ணம்   2) கயல஬யாய்ப்பு  3) அனு஧யம்       4) உடன்஧டிக்லக 
 

34. ஬ிடுதட்ட ஋ழுத்துக்கள் ஋ண்க஠த் வ஡ர்ந்த஡டுக்கவும் 

        NAJ31 , BEF28, RAM31,-------- YAM31 

       1) RPA31           2) BRA30                    3) RPA30              4) PAR31 
 

35.  A ஋ன்஧து  ‘+’, B ஋ன்஧து  ‘-‘, C ஋ன்஧து  ‘x’, ஋஦ில், (10C4) (1) (4C4) (B6) ன்         

       நதிப்பு ஋ன்஦ ?. 
       1) 30                     2) 60                         3) 50                   4) 56 
 

லறிமுறம ( லினா எண் 36-37): கீவ஫ தகொடுக்கப்தட்டுள்ப வகள்஬ிகபில் ஒவ்த஬ொன்றும் 
மூன்று கூறுககபக் தகொண்டுள்பது. இந்஡ கூறுகள் சின இகட இக஠ப்புககபக் 
தகொண்டிருக்கனொம் அல்னது இல்னொ஥ல் இருக்கனொம். உறுப்புகபின் ஒவ்த஬ொரு குழுவும் 
(1), (2), (3), ஥ற்றும் / அல்னது (4 ) இல் இந்஡ ஬க஧தடங்கபில் ஒன்நில் ததொருந்஡க்கூடும். 

஬க஧தடங்களுடன் சரி஦ொக ததொருந்஡க்கூடி஦ உறுப்புகபின் குழுக஬ வ஡ர்ந்த஡டுக்கவும்.  

 

36. தின்஬ரும் ஬க஧தடங்கபில் ததண்கள், ஡ொய்஥ொர்கள் ஥ற்றும்   

        ததொநி஦ி஦னொபர்களுக்கு இகட஦ினொண சிநந்஡ உநக஬க் குநிக்கிநது? 

                                                       
       1)       2)                  3)       4) 

 

 

 

37.  தின்஬ரும் ஬க஧தடங்கபில் ஋து நூனொசிரி஦ர், ஬஫க்கநிஞர் ஥ற்றும் தொடகர்  
     இகடவ஦஦ொண சிநந்஡ உநக஬க் குநிக்கிநது? 

 1)       2)       3)      4) 

  

  

38. கீவ஫ கொட்டப்தட்டுள்ப தடங்கபில் ஋து, புள்பி஦ிடப்தட்ட வகொட்டின் ஥ீது ஥டித்஡ொல்,       

         தசவ்஬க அடித்஡பத்துடன் கூடி஦ தி஧஥ிட் ஬டி஬ ததட்டிக஦ உரு஬ொக்கும்? 

  

   

1) a                          2) b                        3) c                        4) d 
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39. யி஦ா ஧டத்தில் உள்஭ யடியங்கல஭க் மகாண்டு மகாடுக்கப்஧ட்டுள்஭ யிலட   

    ஧டங்கள் (a), (b), (c) நற்றும் (d) ஆகினலயகளுள் ஋தல஦ உருயாக்க஬ாம்? 

      

 

 

 

   
   

1) a                          2) b                        3) c                        4) d 

 
 

லறிமுறம (லினா எண் 40-42): ஧ின்வரும் வி஦ொக்க஭ில் தகள்விக்கு஫ினிட்ட இடத்மத 
பூர்த்தி பெய்னக்கூடின ப஧ொருத்தநொ஦ விமடமனத் ததர்ந்பதடுத்து எழுதக. 

 

40.   

 
 

 

 

 1) 60                           2)50                      3)25                         4)21 
 

 

41.   

 

 
 

 

 

1) 33            2)38                     3)32                        4)37 
 

42.  
 

 

 

 1) 660            2)670                    3)610                       4)690 
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லறிமுறம (லினா எண் 43-44): பின்லரும் லினாக்கரில் சிய எழுத்துகள் ஒரு 

கு஫ிப்஧ிட்ட உ஫வின்஧டி பகொடுக்கப்஧ட்டுள்஭஦. இவற்றுள் ப஧ொருந்தொதமத ததர்ந்த டுத்து 
எழுதுக 

43. ததொருத்஡஥ற்நக஡ த஡ரிந்த஡டு. 

1) YDWB   2) TKRI  3) QNOM  4) HLFJ 

 

44. ததொருத்஡஥ற்நக஡ த஡ரிந்த஡டு. 

     1) OUSF   2) PIGS  3) TEPJ  4) XLPA 
 

லறிமுறம (லினா எண் 45-50): 

45. ஒரு ஡ந்க஡ ஡ணது ஥கணிடம், "஢ீங்கள் திநந்஡வதொது ஢ொன் உங்கள் ஡ற்வதொக஡஦  
    ஬஦஡ில் இருந்வ஡ன்"  ஡ந்க஡஦ின் ஡ற்வதொக஡஦ ஬஦து 36 ஋஦ில், ஐந்து    

       ஆண்டுகளுக்கு முன்பு சிறு஬ணின் ஬஦து ஋ன்ண? 

         1)13                     2)15              3)17                        4)20 

 

46. A, B, C, D ஥ற்றும் E ஆகிவ஦ொர் சீட்டு ஬ிகப஦ொட்டிகண ஆடுகின்நணர்.  A ஋ன்த஬ர் B  

    ஦ிடம் "஋ணக்கு ஢ீங்கள் மூன்று சீட்டுககப தகொடுத்஡ொல் உங்கபிடம் E- னிடம் உள்ப  
    ஋ண்஠ிக்கக஦ில் சீட்டுகள் இருக்கும், ஥ான் உங்களுக்கு மூன்று சீட்டுககப  
    தகொடுத்஡ொல் உங்கபிடம் D - னிடம் உள்ப ஋ண்஠ிக்கக஦ில் சீட்டுகள் இருக்கும். A  

    ஥ற்நம் B னிடம் D ஥ற்றும் E னிடம் உள்஭லதயிட 10 அதிகநாக உள்஭து. B யசம் C  

    னிடம் உள்஭லதயிட இபண்டு சீட்டுகள் அதிகம் நற்றும் மநாத்த சீட்டுக஭ின்  
    ஋ண்ணிக்லக 133 ஋஦ில் B னிடம் உள்஭ சீட்டுக஭ின் ஋ண்ணிக்லக னாது? 

 1)22             2)23                 3)25                4)35 
 

47.  ஒரு யாத்தின் முன் இபண்டு யாத்துகள், ஒரு யாத்தின் ஧ின் இபண்டு யாத்துகள்  
     நற்றும் இபண்டு யாத்துக஭ின் இலடனில் ஒரு யாத்து ஋ன்஫ அலநப்஧ில்  
     ஥ீந்தக்கூடின குல஫ந்த஧ட்ச யாத்துக஭ின் ஋ண்ணிக்லக னாது?  

 1) 3                  2) 5                      3) 7                     4) 9 
 

48.  ஒரு கநய்ப்஧ா஦ிடத்தில் 17 ஆடுகள் இருந்த஦. அதில் ஒன்஧து தயிப நற்஫லய   
     இ஫ந்துயிட்ட஦. அய஦ிடம் நீதமுள்஭ ஆடுகள் ஋த்தல஦? 

         1)7                   2) 8                      3) 9                     4)17 
 

49.  அருணா ஒரு ககக்லக இபண்டு ஧ங்குக஭ாக மயட்டி, அதில் ஒரு ஧ாதிலன  சந  
     அ஭வுள்஭ சிறு துண்டுக஭ாக மயட்டி஦ாள். ஒவ்மயாரு சிறு துண்டும் இரு஧து  
     கிபாம் ஋லட இருந்தது. தற்க஧ாது அய஭ிடம் ஌ழு துண்டுகள் நீதம் உள்஭து ஋஦ில்,  

     முழு ககக்கின் ஋லட ஋ன்஦?  

        1)120 கிபாம்     2)140 கிபாம்  3) 240 கிபாம்  4) 280 கிபாம் 

 

50. ஒரு க஡஦ல்கொ஧ர் துணி சுரு஭ி஬ிருந்து ெட்மடகளுக்கொக ஧஬ துண்டுகள் த஬ட்டி  

        எடுக்க தவண்டி இருந்஡து. அவர் ஒவ்பவொரு சுரும஭யும் 10 ெந துண்டுக஭ொக  
    த஬ட்டிணொர். அவர் ஢ி஥ிடத்஡ிற்கு 45 துண்டுகள் வதீம் த஬ட்டிணொர் எ஦ில், 24  

    ஥ிநிடங்க஭ில் எத்தம஦ சுருள்கம஭ அவர் பவட்டினிருப்஧ொர்? 

         1)32 சுருள்கள்             2) 54 சுருள்கள்  3) 108 சுருள்கள்  4) 120 சுருள்கள் 
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லறிமுறம (லினா எண் 51-55): பின்லரும் லினாக்கரில் ஒரு கு஫ிப்஧ிட்ட மும஫னில் 
உள்஭ வி஦ொ ஧டத்தில் ஒரு ஧குதி கும஫கி஫து . அப்஧குதிமன பகொமககப்஧ட் டுள்஭ 
விமட ஧டங்க஭ி஬ிருந்து ததர்ந்பதடுத்து எழுதுக 

51.   வி஦ொ ஧டம்  விமட ஧டம் 

 

 

 

1) 1 2) 2 3) 3 4) 4 

 

52.      லினா படம்  லிறட படம் 

 

 

 

1) 1 2) 2 3) 3 4) 4 

 

53.     லினா படம்  லிறட படம் 

 

 

 

 
1) 1 2) 2 3) 3 4) 4 

 

54.           லினா படம்        லிறட படம் 

 

 

 
 

 1) 1 2) 2 3) 3 4) 4 

 

55.      லினா படம்       லிறட படம் 

 

 

     

 1) 1 2) 2  3) 3  4) 4 

1012 



 

11 

 

கிபாநப்பு஫த்தி஦ர் 

஧டித்தயர்கள் 

ஊமல்யாதிகள் 

ம஧ண்கள் 

 

 

லறிமுறம (லினா எண் 56-57): பின்லரும் லினாக்கரில் மு ல் ஜ ாடி஬ில் உள்ர 

த ாடர்பிறன கண்டமிந்து அஜ  த ாடர்புறட஬ அடுத்  ஜ ாடி஬ில் லிடுபட்ட 

லார்த்ற ற஬க் கண்டு஧ிடி. 

56. இலச: சந்தம்:: யடியலநப்பு : ? 

 1) சநச்சீர் தன்லந 2) மதாமில்த௃ட்஧ம்  3) கட்டிடக்கல஬ 4) கட்டிடம் 

 

57. புபதம் : ஧ால் :: ஥ிககாடின் : ? 

 1) நகபந்தத்கதன் 2) புலகனில஬  3) கா஧ி 4) திபாட்லச ஧மச்சாறு 

 

லறிமுறம (லினா எண் 58-62): ஧ின்யரும் ஧டத்தில் ஢ொன்கு ஒன்றுடன் ஒன்று 
மதாடர்புலடன ஥ான்கு யடியங்கள் உள்஭஦ . முக்ககாணம் கிபாநப்பு஫த்தில் 
யசிப்஧யர்கல஭ம௃ம் , சதுபம் ம஧ண்கல஭ம௃ம் , மசவ்யகம் ஧டித்தயர்கல஭ம௃ம் நற்றும் 
யட்டம் ஊமல்யாதிகல஭ம௃ம் கு஫ிக்கி஫து ஋஦ில் , தின்஬ரும் தடத்஡ிகண க஬ண஥ொக ஆய்வு 

மசய்து வகள்஬ிகளுக்கு த஡ில் அ஭ிக்கவும்.. 

 

 

 

 

 

 

 

 

 
 

 

  

58. ஧டிக்காத கிபாநப்பு஫ ஊமல் ஢ிகநந்஡ ம஧ண் தல஬யர்கல஭ கு஫ிப்஧ிடுயது   

1) 1 நற்றும் 4 2) 3 நற்றும் 4 3) 4 4) 1 

 

59. ஊமல் மசய்னாத, ஧டிக்காத நற்றும் ம஧ண்கள் அல்஬ாத கிபாநப்பு஫  
    தல஬யர்கல஭ கு஫ிப்஧ிடுயது 

1) 10, 11, 14 2) 10, 11, 12 3) 11, 14 4) 10, 11 
 

60. ம஧ண்கள் அல்஬ாத ஊமல் ஢ிகநந்஡ ஧டித்த தல஬யர்கல஭ கு஫ிப்஧ிடுயது 

1) 7 2) 7, 8 3) 12, 16 4) 7, 8, 16 
  

61. ஧டிக்காத, ஊமல்யாதி அல்஬ாத நற்றும் ம஧ண்கள் அல்஬ாத தல஬யர்கல஭  
    கு஫ிப்஧ிடுயது 

1) 13, 9 2) 14, 11 3) 12, 13 4) 2, 3 
  

62. தடிக்காத நற்றும் ஊ஫ல் மசய்னாத கி஧ொ஥ப்புந ததண் அல்னொ஡  

      ஡கன஬ர்கல஭ கு஫ிப்஧ிடுயது . 
1) 14 2) 14, 11 3) 11 4) 14, 10 
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லறிமுறம (லினா எண் 63-67): பின்லரும் லினாக்கரில் ஒரு குமி஬ீட்டு முறம஬ில் 
ஒரு லி ிற஬ ப஬ன்படுத் ி எழுத்துகளுக்கு ப ியாக ஜலறு சிய எழுத்துகள் அல்யது 
எண்கள் ப஬ன்படுத் ப்படுகிமது. அலற்றம கண்டமிந்து ச ரி஬ான லிறடற஬த் 
ஜ ர்ந்த டுக்க. 

 

63. MADAM என்பது SOLOS என எழு ப்படு஫ானால், CIVIC என்பது எவ்லாறு  

          எழு ப்படும்? 

1) KAYAK 2) POLITE 3) REFINED 4) URBANE 
  

64. BODY என்பது DQFA, என எழு ப்படு஫ானால், MIGHT என்பது எவ்லாறு  

          எழு ப்படும்? 

 1) OKHTV  2) NJHIU       3) OKIJV   4) NJITU 
  

65. ஒரு குநிப்திட்ட குநி஦ீட்டில் VIM என்பது ADR என எழு ப்படு஫ானால், LAUNCH  

      என்பது எவ்லாறு எழு ப்படும்? 

   1) QVZIHC  2) GFPSXM  3) QFZSHM 4) GVPIXC 
 
  

66. GUN என்பது KYR என எழு ப்படு஫ானால், DOCTOR என்பது எவ்லாறு  

          எழு ப்படும்? 

   1) HSGWSY  2) HSGXSY  3) HSGXSV 4) GRFWRU 
  

67. GOLD என்பது LSOF என எழு ப்படு஫ானால், PACK என்பது எவ்லாறு  

          எழு ப்படும்? 

 1) UFEM      2) TDGM       3) TEGM   4) VEFM 
 
 

68. ஧வ஥ஷ் ஬஦து 16. ஢ொன்கு ஆண்டுகபில் அ஬ரின் யனது  ஢வ஧ரின் கடந்த  

    ஆண்டு யனலதயிட இருநடங்காக இருக்கும் . ஋஦ில் , ஢வ஧ரின்  
    தற்க஧ாலதன  ஬஦து ஋ன்ண? 

  1)10   2) 8   3) 9   4) 11 
 

 

69. ஥ான் ஋஦து யடீ்டி஬ிருந்து மதற்கு க஥ாக்கி 20 நீ ஥டந்து ஧ின் கிமக்கு  

    க஥ாக்கி 10 நீ ஥டந்கதன். மதாடர்ந்து யடக்கு க஥ாக்கி திரும்஧ி 30 நீ தூபம்   
    ஥டந்கதன் ஋஦ில் , ஥ான் ஋ன்னுலடன யடீ்டி஬ிருந்து ஋வ்ய஭வு மதால஬யில்  

    உள்க஭ன் ?  

        1) 5√2 நீ       2) 10√2 நீ    3) 15√2 நீ  4) 20√2 நீ 

 

70. ஐந்து ததண்கள் ஬ரிகச஦ொக உட்கொர்ந்஡ிருக்கிநொர்கள் . ஧ிபதிநா வ஥ொணொயின்  
    ய஬து ஧க்கம் அநர்ந்துள்஭ார் . ஥ிதி , வ஥ொணொயின் இடதுபு஫த்திலும்  

    ஥டாராயின் ய஬துபு஫த்தலும் அநர்ந்துள்஭ார் . ஧ிபதிநா அனுயின்  

    இடதுபு஫ம் அநர்ந்துள்஭ார் ஋஦ில் , இடதுபு஫த்தில் கலடசினாக  
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    அநர்ந்திருப்஧யர் னார் ?  

1) அனு 2) ஥டாரா  3) ஧ிபதிநா     4) ஥ிதி 
 

71. ஒரு யரிலசனில் கசாஹன் ஧ின்பு஫ம் இருந்து ஒன்஧தாயதாக ஥ிற்கி஫ார் .  

     பகநஷ் முன்பு஫ம் இருந்து ஋ட்டாயதாக ஥ிற்கி஫ார் . பாதா இருயருக்கும்  

     இலடனில் ஥ிற்கி஫ார் . ஋஦ில் , யரிலசனில் ஥ிற்கக்கூடின நாணயர்க஭ின்  

     குல஫ந்த஧ட்ச ஋ண்ணிக்லக னாது ?  

1) 8 2) 10 3) 12  4) 14 

 

72. கபாநா ஜதி஦ின் சககாதரி . கநா஦ா ஜதி஦ின் தாய் . கதவ் கநா஦ாயின்    

     தந்லத . ஬஬ிதா கதயின் தாய் . ஋஦ில் , கபாநா ஬஬ிதாயிற்கு ஋வ்யலகனில்  

     உ஫வு ?   

1) நகள்    2) க஧த்தி   3) ஧ாட்டி   4) மகாள்ளுப்க஧த்தி  
 

 

73. ஥ான் ஋஦து யடீ்டி஬ிருந்து கிமக்கு  க஥ாக்கி 10 நீ ஥டந்து ஧ின் யடக்கு  

    க஥ாக்கி 15 நீ ஥டந்கதன் . மதாடர்ந்து கநற்கு  க஥ாக்கி திரும்஧ி 10 நீ தூபம்   
    ஥டந்கதன் ஋஦ில் , ஥ான் ஋ன்னுலடன யடீ்டி஬ிருந்து ஋வ்ய஭வு மதால஬யில்  

    உள்க஭ன் ?  

1) 10 ஥ீ 2) 15 ஥ீ 3) 25 ஥ீ  4) 35 ஥ீ 

 

74. ஢ொன் கிமக்கு வ஢ொக்கி ஥ிற்கிக஫ன் . ய஬துபு ஫ம் திரும்஧ி 30 ஥ீ ஢டந்து தின்  
    இடதுபு஫நாக திரும்஧ி 30 ஥ீ ஢டந்வ஡ன். ஧ின்஦ர் ய஬துபு஫நாக திரும்஧ி 60 ஥ீ  
    ஥டந்து நறு஧டிம௃ம் ய஬துபு஫நாக திரும்஧ி 60 ஥ீ தூ஧ம் ஢டந்வ஡ன் ஋ணில் ,  

    ஢ொன் தற்க஧ாது ஋த்திலசலன க஥ாக்கி ஥ிற்கின்க஫ன் ? 

1) கிமக்கு 2) யட கநற்கு  3) யடக்கு  4) மதன் கநற்கு  

 

75. தகொடுக்கப்தட்ட தடத்஡ில் உள்ப க஥ர்க்ககாடுகள் ஥ற்றும் முக்வகொ஠ங்கள்    

    ஋ண்஠ிக்ககக஦ கண்டு ஋ழு஡வும். 

  

 

 

 

 1) 10 க஥ர்க்ககாடுகள் ஥ற்றும் 34 முக்வகொ஠ங்கள்   

 2) 9 க஥ர்க்ககாடுகள் ஥ற்றும் 34 முக்வகொ஠ங்கள் 

 3) 9 க஥ர்க்ககாடுகள் ஥ற்றும் 36 முக்வகொ஠ங்கள்   

 4) 10 க஥ர்க்ககாடுகள் ஥ற்றும் 36 முக்வகொ஠ங்கள் 

 

76.  ஧ின்யரும் த஡ொடரில் உள்஭ ஡஬நொண ஋ண்லணக் கண்டுதிடிக்க: 
       445, 221, 109, 46, 25, 11, 4 

1) 221   2) 109   3) 46    4)25  
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லறிமுறம (லினா எண் 77-80) : P, Q, R, S, T, U, V ஫ற்றும் W ஆகிகனார் 
யட்டயடியநாக லநனத்லத ஧ார்த்து அநர்ந்துள்஭஦ர் 

1. P என்பலர் R ஫ற்றும் V க்கு அருகில் உள்஭  T க்கு ய஬து ஧க்கம் இபண்டாயதாக 
உள்஭ார். 

2. S என்பலர் P ன் அண்லட யடீ்டார் அல்஬. 

3. V என்பலர் U ன் அண்கட ஬டீ்டொர்.  

4. Q என்பலர் S ஫ற்றும் W க்கு இறடஜ஬ இல்ல஬. W என்பலர் U ஫ற்றும் S க்கு 
இறடஜ஬ இல்ல஬. 

77. ஧ின்யரு஧யர்க஭ில் ஋யர் இருயர் அண்லட யடீ்டார் அல்஬? 

1) RV   2) UV   3) RP   4) QW 

78. னார் V ன் ய஬து ஧க்கத்தில் உள்஭ார்? 

1) P   2) U   3) R    4) T 

79. ஧ின்யரும் கூற்றுக஭ில் சரினா஦து ஋து? 

1) P ஋ன்஧யர் Q ன் ய஬து ஧க்கத்தில் உள்஭ார்  
2) R ஋ன்஧யர் U  நற்றும் V க்கு இலடகன உள்஭ார். 

         3) Q என்பலர் W ன் இடது பக்கத் ில் உள்ரார்   

 4) U என்பலர் W நற்றும் S க்கு இலடகன உள்஭ார். 
 

80. S ன் ஥ில஬ ஋ன்஦? 

  1) U ஫ற்றும் V க்கு இறடஜ஬          2) P  ன் லயது பக்கத் ில் இபண்டாயது. 

 3) W ன் லயது பக்கம்                   4) தபவு க஧ாதுநா஦தாக இல்ல஬ 
 

81. A என்பலர் B ன் சககாதரி. C என்பலர் B ன் தாய். D என்பலர் C ன் தந்லத. E  

      என்பலர் D ன் தாய் ஋஦ில், A என்பலர் D க்கு ஋வ்யலகனில் உ஫வு? 

1) சககாதபர்             2) நகன்                 3) நாநா                4) நருநகன் 

  

82. ஒரு ஥஧லபக் சுட்டிக்காட்டி ஒருயர் ஒரு ம஧ண்நணினிடம் ” அயருலடன தானார்தான்    
    உங்கள் தந்லதனின் ஒகப நகள்” ஋ன்஫ார். ஋஦ில், அப்ம஧ண்நணி அந்த ஥஧ருக்கு  
    ஋வ்யலகனில் உ஫வு? 

 1) நாநி                 2) அம்நா             3) நல஦யி                 4) நகள் 
 

83. ஒரு ம஧ண்நணி ஒரு ந஦ிதலப த஦து தானினுலடன சககாதபரின் நகன் ஋஦  
    அ஫ிமுகப்஧டுத்துகி஫ார். ஋஦ில், அம்ந஦ிதர் அப்ம஧ண்நணிக்கு ஋வ்யலகனில் உ஫வு? 

  1) நருநகன்            2) நகன்   3) ஧ங்கா஭ி        4) க஧பனுக்கு நாநா 
 

84. ஒரு ஌ணினா஦து 60° ஌ற்஫ககாணத்லத அலநக்குநாறு சுயற்஫ின் நீது சாய்த்து  
    லயக்கப்஧ட்டுள்஭து. ஌ணினினுலடன அடிப்஧குதி சுயற்஫ி஬ிருந்து 4.6 நீ மதால஬யில்  
    உள்஭து ஋஦ில், ஌ணினின் ஥ீ஭ம் னாது? 

 1) 2.3 நீ                2) 4.6 நீ                 3) 7.8 நீ           4) 9.2 நீ 
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85. ஒரு கு஫ிப்஧ிட்ட மதாலகனின் நீது 12% யட்டி யதீத்தில் இபண்டலப ஆண்டுகளுக்கா஦  
    த஦ி யட்டினா஦து அகத மதாலகனின் நீது 10 % யட்டி யதீத்தில் மூன்஫லப  
    ஆண்டுகளுக்கா஦ யட்டிலனயிட ரூ. 40 குல஫வு ஋஦ில், அத்மதாலகலனக் காண்க 

1) ரூ. 600               2) ரூ. 666            3) ரூ. 780          4) ரூ. 800 

 

லறிமுறம (லினா எண் 86-88): பின்லரும் லினாக்க ளுக்கு ெரினொ஦ விமடமன 
ஜ ர்ந்த டுத்து எழுதுக 

 

86. யாலமப்஧மத்லத ஆப்஧ிள் ஋ன்றும், ஆப்஧ில஭ திபாட்லச ஋ன்றும், திபாட்லசலன  
    நாம்஧மம் ஋ன்றும் நாம்஧மத்லத மகாட்லடகள் ஋ன்றும்  கு஫ிக்கப்஧டுகநனா஦ால்,  

    ஧ின்யருய஦யற்றுள் ஋து நஞ்கள் ஥ி஫ ஧மம்? 
1) நாம்஧மம்             2) திபாட்லச    3) ஆப்஧ிள்             4) மகாட்லடகள் 

 

87. கடிகாபம் மதால஬க்காட்சி ஋ன்றும், மதால஬க்காட்சி கபடிகனா ஋ன்றும்,   கபடிகனா  
    சூல஭ ஋ன்றும், சூல஭ அபலய இனந்திபம் ஋ன்றும் அபலய இனந்திபம் இரும்பு  
    ஋ன்றும் அலமக்கப்஧டுகநனா஦ால் ஒரு ம஧ண்நணி ஋தில் மபாட்டி சுடுயாள்? 

1) வ஧டிவ஦ொ   2) சூகப       3) அ஧க஬ இ஦ந்஡ி஧ம்     4) இரும்பு 
 

88. ஋஬ி ஥ாய் ஋ன்றும், ஥ாய் கீரிப் ஧ிள்ல஭ ஋ன்றும் கீரிப் ஧ிள்ல஭ சிங்கம் ஋ன்றும்,  

    சிங்கம் ஧ாம்பு ஋ன்றும், ஧ாம்பு னால஦ ஋ன்றும் அலமக்கப்஧டுகநனா஦ால் ஋து  
    மசல்஬ப் ஧ிபாணினாக ய஭ர்க்கப்஧டுகி஫து? 

1) ஋஬ி                     2) ஥ாய்                  3) கீரிப் ஧ிள்ல஭         4) சிங்கம் 
 

லறிமுறம (லினா எண் 89-91): பின்லரும் லினாக்கரில் தகள்விக்கு஫ிக்கு ஧தி஬ொக 
பகொடுக்கப்஧ட்டுள்஭ ஥ொன்கு விமடக஭ி஬ிருந்து ெரினொ஦ விமடமன ததர்ந்பதடுத்து 
எழுதுக. 

 
89. kEAc: cAEk:: xGMf : ? 

 1) GmcF  2) FmgX   3) EgmX  4) EmgF  

 

90. MXN: 13 x 14:: FXR : ? 

1)14X15                2) 5X17                      3) 6X18            4)7X19 

 

91. REASON: SFBTPO::THINK : ? 

1) SGHMJ             2) UIJOL                    3) UHNKI          4) UJKPM 

 
 

லறிமுறம (லினா எண் 92-96): பின்லரும் ஒவ்தலாரு வி஦ொவிலும், ஒரு 

லடிலத்துடன் ஒரு சது஭ தலரிப்பறட஬ான  ாள் (X) லறங்கப்படுகிமது. 

புள்ரி஬ிடப்பட்ட லரி஬ில் தலரிப்பறட஬ான  ாள் ஫டிக்கப்படும்ஜபாது ததொன்றும் 
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வடிவம்  எவ்லாறு கொணப்஧டும் என்பற  பகொடுக்கப்஧ட்டுள்஭ நான்கு விமடக஭ில் 

இருந்து கண்டுபிடிக்கவும். 

 
92.   
 

 
     

    (X)               (1)            (2)            (3)            (4) 

1)1                    2)2                          3)3                            4)4 

93.  
 
             

 
              (X)               (1)             (2)             (3)             (4) 

 1) 1                     2) 2                       3) 3                           4) 4 
 

94.  
 
 

 

               (X)                   (1)             (2)             (3)              (4) 
 
 1)1                  2) 2                      3) 3                       4) 4 

 
95.  

 
 

 
 
         (X)                (1)             (2)             (3)             (4) 

 
 1) 1                     2) 2                     3) 3                    4) 4 

 
96.  

 
    

     

 
             (X)                (1)             (2)             (3)             (4) 

 
 1)1                    2)2                    3)3                        4)4 

 

97. பாககஷ் பாஜூலயயிட அதிக நதிப்ம஧ண்கள் ம஧ற்றுள்஭ார் 
      பயி பாககலரயிட குல஫ந்த நதிப்ம஧ண்கள் ம஧ற்றுள்஭ார் 
      பாஜூ பயிலனயிட அதிக நதிப்ம஧ண்கள் ம஧ற்றுள்஭ார். 
    பங்கா  பாஜூலயயிட அதிகநாகவும்  பாககலரயிட குல஫ந்த நதிப்ம஧ண்களும்      
    ம஧ற்றுள்஭ார். ஋஦ில் இயர்க஭ில் அதிக நதிப்ம஧ண்கள் ம஧ற்஫யர் னார்? 

1) ஧ொவகஷ்  2) ஧ொஜூ  3) ஧஬ி   4) பங்கா 
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98. 967452 ஋ன்஫ ஋ண்ணில் 7 ன் இட நதிப்புக்கும் முக நதிப்புக்கும் இலடகன உள்஭  
    யித்தினாசம் ________.  
 1) 6393  2) 5831   3) 6993  4) 6339 

 

99. 300 ஬ிருந்து 700 யலப உள்஭ இபண்டு ஋ல்ல஬கல஭ம௃ம் உள்஭டக்கின   
    ஋ண்க஭ில்  2, 3 நற்றும் 7 ஆல் யகு஧டக்கூடின ஋ண்கள் ஋த்தல஦?    

       1)7                    2)9                            3)11                 4)5 

 

100. ஒரு நாணய஦ின் நதிப்ம஧ண் 63 ஋ன்஧திற்கு ஧தி஬ாக தயறுத஬ாக 83 ஋஦  
      உள்஭ிடப்஧ட்டது. அத஦ால் அவ்யகுப்஧ின் சபாசரினில் அலப  நதிப்ம஧ண் கூடினது.  

      ஋஦ில், அவ்யகுப்஧ில் உள்஭ மநாத்த நாணயர் ஋த்தல஦? 

1)10           2)20                            3)40                    4)7                   
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உத்ததெ தவம஬க்கொக நட்டும் 



0 

 

 

 

GJr;Nrup muR 
gs;spf; fy;tp ,af;ffk; 

tpdhr; rpw;NwL 
 

etk;gu; 2019 
 
 

gFjp – II 

gbg;gwpTj;; Nju;T 
 

Nju;T ika vz;:                        Nju;T vz;: 
 

Fwpg;Gfs; 

   
 

    
 

1.   midj;J tpdhf;fSf;Fk; tpilaspf;fTk;. tpdhf;fs; xt;nthd;Wk; xU     
    kjpg;ngz;izf; nfhz;bUf;fpwJ. 
 
2.   midj;J tpdhf;fSk; fl;lhakhdjhy; tpilaspg;gjw;F Kd;G KO 
 tpdhj;jhisAk; gbf;f Kay Ntz;lhk;. 

 
3.   Kjy; tpdhitj; njhlq;fp tpdhit Kbf;Fk; tiuapy; xU tpdhTf;Fg; gpd; 

 xU tpdhthf tpilaspf;f KayNtz;Lk;. 
 
4.   VNjDk; tpdhTf;F tpil njupahtpl;lhy;> mjw;fhf mjpf fhyj;ijr; 

 nrytplhJ> mLj;j tpdhtpw;Fr; nry;y Ntz;Lk;. fhyk; fpilg;gpd; Kjypy; 
 tpilaspf;fhky; tpl;Lr; nrd;w tpdhf;fSf;F tpilaspf;f Kay Ntz;Lk;. 
 
5.   ,e;j tpdhj;jhSf;F xJf;fg;gl;bUf;Fk; fhyk; kpfTk; FWfpajhf ,Ug;gjhy; 

 ve;j  tpdhtpw;Fk; mjpf fhyj;ijr; nrytopf;fhky; KOepiw Kaw;rpia 
 mjw;fhf cgNahfpf;f Ntz;Lk;. 
 
6.   tpdhr; rpw;Nwl;bNyNa> cj;Njr Ntiyf;fhf filrp gf;fj;jpy; 

 ntw;Wj;jhs;fs; nfhLf;fg;gl;bUf;fpd;wd. 
 
7.   Nju;tiwapy; nfhLf;fg;gLk; jdp tpilj;jhspy; tpilfs; Fwpf;fg;gl 

 Ntz;Lk;. 
 
8.   gFjp – I> gFjp – II ,itfSf;Nfw;g tpilj;jhs; ,U gFjpfisf; 

 nfhz;Ls;sJ. 
 
9.   xt;nthU tpdhtpw;fhd rupahd tpilia nfhLf;fg;gl;litfspypUe;J 

 Nju;e;njLj;J> mjdpd; vz;iz tpilj;jhspy; fUg;G ghy;ghapd;l; 
 Ngdhtpdhy; epoypLjy; Ntz;Lk ;. 
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அறிவியல் 

1. NtHdpaH mstpapd; kPr;rpw;wsT 0.01 nr.kP kw;Wk; jpUF mstpapd; kPr;rpw;wsT 0.01nr.kP 
vd;why;> ve;j mstp kpfj; Jy;ypakhf mstpLfpwJ? 

    1) jpUF mstp  2) ntHdpaH mstp  
 3) ,uz;Lkpy;iy  4) ,uz;Lk; rkmsT Jy;ypakhdJ 
 

2. NeHNfhl;Lg; ghijapy; ,aq;Fk; xUnghUspd; jpirNtfk; -fhyk; (v – t)tiuglk;  

 fPNo nfhLf;fg;gl;Ls;sJ.mjpypUe;Jt =0 Kjy; 5 tpdhbfs; tiume;j nghUs;  

 fle;j njhiyT 

 
         1) 80kP   2) 60 kP   3) 40kP   4) 20 kP 

 

3. 60N vilAs;s xU kdpjH xU kpd;J}f;fpapy; fPNo tUfpwhH.kpd; J}f;fpapd; KLf;fk; 2kPtp-2. 

 jpBnud kpd; J}f;fpapd; fk;gp mWe;J kpd;J}f;fp; fPNo tpOk; NghJ me;j egupd; Vil 

        1) 58N   2) 0N    3) 30 N   4) 62N 

 
4. 3kP ePsk; 2kP mfyk; nfhz;l xU glF xU Vupapy; kpjf;fpwJ. xU egH glfpy;  
 VWk; NghJ glfhdJ 1nr.kP %o;FfpwJ vd;why;>me;j egupd; epiw 

         1) 120 fpfp  2) 60 fpfp  3) 72 fpfp  4) 80 fpfp 
 
5. XuyF NeHkpd;D}l;lk; nfhz;l xU Jfis100 Vkpd;dOj;jj;jpy; cs;s xU kpd; fk;gpapypUe;J 

 100 Vkpd;dOj;jj;jpy; cs;s kw;nwhU kpd; fk;gpf;F efHj;j Njitg;gLk; Ntiyapd; msT 

         1) 0 J    2) 25 J    3) 50 J    4)200 J 
 

6. 8 R kpd; jil nfhz;l Xu fk;gpia vLj;J glj;jpy; fhl;bagb tl;lkhf khw;wTk;. mjd;  

  tpl;lj;jpd; Kidfs; AB f;F ,ilNa cs;s njhFkpd; jil ahJ? 

 
 1) 2 R   2) 4 R   3) 8 R   4) 16 R 

பகுதி - ஆ 

படிப்பறிவுத் ததர்வு – நவம்பர் 2019 

கள஬ம் : 2 நணி                                             மநளத்த நதழப்ம஧ண்கள் : 100 
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7. fhe;j tpirf; NfhLfs; fhe;jj;jpd; cs;Ns_____ ,y; ,Ue;J_____f;F nry;fpwJ.  
    1) tlf;F>njw;F 2) njw;F>tlf;F 3) fpof;F>Nkw;F 4) Nkw;F>fpof;F 
 

8.  m > -1, m < -1 kw;Wk; m > +1  Mfpa cUg;ngUf;fq;fs; cUthf;Fk; Mb________ 

    1) Ftp Mb   2) Fop Mb   3) rkjs Mb 4) Nfhsf Mbfs; 
 
9. xU Ftp nyd;]pd; Nky; ghjpia fUg;G jhshy; %btpl;lhy;  
    1) gpk;gj;jpy; fPo; ghjp msT kiwe;J tpLk;   
    2) gpk;gj;jpd; Nky; ghjp msT kiwe;J tpLk;;  
    3) cUg;ngUf;fk; ghjpahFk;  
    4) xspr; nrwpT ghjpahFk; 
 
10. nry;rpa]; kw;Wk; /ghud;`Pl; ntg;g epiy khzpf;fs; ,uz;Lk; xNu vz; kjpg;igf;  
 fhl;Lk; ntg;gepiy 

        1) 40
o
   2) - 40

o
  3) 45

o
   4) 50

o 

 
11. xU igad; kiyg;gpuNjrj;jpy; jd;Dila jhia miof;fpwhd;. Mdhy; mtd; jha;f;F 
 vjpH Kof;fj;jpdhy; vq;fpUe;J miof;fpwhd; vd;gJ Gupatpy;iy.,jw;F fhuzk; mtDf;Fk; 

 kiyf;Fk; ,ilg;gl;l J}uk;____ tpl Fiwthf ,Ue;jpUf;fyhk;. 

        1) 34 kP   2) 27 kP   3) 17 kP    4) 5 kP  
 

12. vup el;rj;jpuk; vd;gJ________ 

    1) rpWNfhs;       2) tpz;kPd; 
    3) Gtp tspkz;lyj;jpy; EioAk; tpz;fy;  4) thy; tpz;kPd; 
 
13. nghUe;jhjijj; NjHe;njL 
   1) cuk;     - gh];gu];  
   2) fzpdpnjhopw;rhiy  - rpypf;fhd;  
   3) gw;gir   -  /GNshiuL 
   4) vy;.gp.[p    - gpA+l;Nld; kw;Wk; kPj;Njd; 
 
14. fPNo cs;sglq;fs; Fwpg;gJ 

 
   1) INrhNlhg;Gfs;  2) INrhghHfs;  3) INrhNlhd;fs;   4) INrhkHfs; 
 
14. kPj;Njd; %yf;$w;wpy; fhHgd; kw;Wk; i`l;u[dpd; epiw rjtPj tpfpjk; 

       1) 1 : 4   2) 4 : 1   3) 1 : 3    4) 3 : 1 

 
15. nghUj;Jf: 

       i) 69 fp Na    - a) 0.25 Nkhy;fs; 
       ii) 11.2 ypl;lh;fs; O2   -  b) 3 Nkhy;fs; 
 iii) 12.046 x 10

23
 Fe mZf;fs; - c) 0.5 Nkhy;fs; 

 iv) 1.5 x 10
23

  H2O %yf;$Wfs;  - d) 2 Nkhy;fs; 
        1) i – b, ii – c, iii – d, iv – a   2) i – c, ii – d, iii – a, iv – b 

        3) i – d, ii – c, iii – b, iv – a  4) i – a, ii – c, iii – d, iv – b 
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17. MHrdpf; vd;w jdpkk; nfhz;Ls;s gz;Gfs;  
    1) cNyhfk;     2) mNyhfk;   
    3) cNyhfk; kw;Wk; mNyhfk;  4) cNyhfKk; ,y;iy mNyhfKk; ,y;iy 
 
18. ,Uk;G cNyhfj;ij cUfp gphpj;njLf;Fk;; nghOJ tWf;fg;gl;l jhJ> fy;fup> Rz;zhk;Gf;fy; 
 Mfpatw;iw fyf;f Ntz;ba tpfpjk;  

        1) 4 : 2 : 1  2) 1 : 2 : 4  3) 8 : 4 : 1  4) 1 : 4 : 8 

 
19. fyf;fg;gl;l cNyhfq;fspd; mbg;gilapy; NtWgl;lij fz;Lgpb. 
   1) gpj;jis  2) ntz;fyk;  3) bAuhYkpd;  4) nkf;dhypak; 
 

20. K2 Cr2O7  ,y; cs;s FNuhkpaj;jpd; Mf;]p[Ndw;w vz; 

        1) + 6    2) - 6    3) + 2     4) - 2 
 
21. nghUj;Jf: 

     Rlupd; epwk;      fhz;git 

     i) nrq;fy; rptg;G  - a) Zn 
2+

 

        ii) nghd;epwkQ;rs;  - b) K 
+
 

        iii) ,sQ;rptg;GCjh  - c) Na 
+
 

        iv) gr;ir   - d) Ca
2+ 

         1) i – d, ii – a, iii – c, iv – b    2) i – c, ii – d, iii – a, iv – b 

         3) i – b, ii – c, iii – d, iv – a   4) i – d, ii – c, iii – b, iv – a 

 
22. fPOs;s nefpopfspd; nurpd; FwpaPLfspy; vJ ghJfhg;gw;wJ? 
    1) 1 kw;Wk; 2   2) 2 kw;Wk; 3  3) 3 kw;Wk; 4  4) 3 kw;Wk; 6 
 

23. xU fhpkr; NrHkj;jpd; epwj;jpw;F fhuzkhd FOf;fs; ______ 

         1) INrhNlhg;  2) epwcaHj;jp 3) epw [ddpfs;  4) epwj; jhq;fp 

 
24. NtWgl;l xd;iw fz;Lgpb. 

    1) rpypf;fh n[y;  2) Rl;lRz;zhk;G 3) mlHH2SO4  4)NaOH 

 

25. அட்டைனின் உநழழ் ஥ீரில்அடிச்சு ஧ிரித்மதடுக்கப்஧டும் வயதழப்ம஧ளபேள்கள் 

           1) உனர் பத்த அழுத்தம்     2) சர்க்கடப வ஥ளய் 

           3) நஞ்சள் களநளட஬                4) ப௃ன்கழுத்துக் கமட஬ 
 

26.  ம஧ளபேத்துக 

                        அ.                                      ஆ 

       a]. ஥ழபெவபள மெ஦ிக்.             I] ப௃துமகலும்஧ிகள் 

       b] டநவனள ென்஦ிக்.           Ii] சுபேங்குதல் 

       c] சழஸ்வைளல்.                             Iii] யிரியடைதல் 

       d] ைனஸ்வைளல்.                       Iv] யட஭தடச புழுக்கள் 
 

    1) a-iv,b-I, c-ii, d-iii       2) a-I,b-ii,c-iii,d-iv     
 3) a-iii,b-I,c-iv,d-ii       4) a-ii, b-iii, c-iv, d-i 
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27.   

 

 

 

 

 

 

 

 

 

 

     வநவ஬ மகளடுக்கப்஧ட்டுள்஭ ஧ைத்தழல் யிடு஧ட்ையற்ட஫ ஥ழபப்புக 

           1)  H2O, குளுக்வகளஸ்       2)  O2, H2O         3) H2O, சுக்வபளஸ்       4) ப்பக்வைளஸ், கார்஧ன்-டை-ஆக்டைடு 

 

28.    -------------கதழர்கள் ஧னிர் தளயபங்க஭ில் யிபேம்஧த்தக்க சடுதழ நளற்஫ங்கட஭          

           தூண்டுயதற்கு ஧னன்஧டுத்தப்஧டுகழன்஫஦ 

  1) ஧டீ்ைள கதழர்கள்                   2) பு஫ ஊதளக் கதழர்கள்    

 3) களநள கதழர்கள்    4) ஆல்ஃ஧ள கதழர்கள் 
 

29. ப௄ட஭னில் உண்ைளகக் கூடின நழன் அதழர்வுகட஭ ஧தழவு மசய்ப௅ம் கபேயி 
 1) ஋஬க்ட்வபள ஋ன்மச஧வ஬ளகழபளம்  2) ஋஬க்ட்வபள கழபளம் 

 3) ஋஬க்ட்வபள ஋஧ிமச஧வ஬ளகழபளம்  4) ஋஬க்ட்வபள ஋க்வகளகழபளம் 
 

30. ஒவ்மயளபே ஥ளளும் டதபளய்டு சுபப்஧ி டதபளக்சழட஦ச் சுபக்க -------------அவனளடின் 
 வதடயப்஧டுகழ஫து 

 1)  120µg  2) 150 µg   3) 200 µg   4)125 µg  

 

31.  ம஧ளபேத்துக 

                அ.                                           ஆ 

  a. ஧ளபன்டகநள.                     I) ஧ளதுகளப்பு 

  b .குவ஭ளபன்டகநள.           ii) உறுதழத்தன்டந 

  c. வகள஬ன்டகநள.               Iii) ஒ஭ிச்வசர்க்டக 

  d. ஸ்கழ஭ிபன்டகநள.          Iv) உணவு வசநழத்தல் 

 1) a-iv,b-iii,c-i,d-ii 2) a-ii,b-iv,c-iii,d-i 3)a-iii,b-ii,c-i,d-iv 4) a-i,b-iii,c-iv,d-ii 
 

32.  ஒவ்மயளபே மசல்஬ழன் ப௃துடநடன உணர்த்தும் கடிகளபங்கள் ஆக மசனல்஧டு஧டய 
 ஋டய 
 1) மசன்ட்வபளநழனர்  2) டீவ஬ளநழனர் 3) மநட்ைளநழனர் 4) அ஦நழனர் 
 

33. ஆர்க்கழவனளப்மைரிக்ஸ் ஋ன்஧து ஧மங்கள஬-------------- 

 1) புடத஧டிய ஧஫டய  2) புடத஧டிய ஊர்ய஦  

 3) புடத஧டிய யி஬ங்கு  4) புடத஧டிய ஧ளம்பு 
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34. ---------------தண்டு ஥ீட்சழடன உபேயளக்குயிக்கழன்஫து. 

 1) ஆக்சழன்கள்  2) ப௃ட஭க்குறுத்து  3) டசட்வைளடக஦ின்  4) சூடக஦ின் 
 

35. கவழ்கண்ையற்றுள் ஋ந்த தழசு வசநழப்பு ஧ணிடன மசய்கழ஫து? 

 1) ஧ளபன்டகநள  2) வகள஬ன்டகநள  3) ஸ்கழ஭ிமபன்டகநள  4) ஸ்கழ஭டீபட்ஸ் 
 

36. கவழ்கண்ையற்றுள் ஋து ஒற்ட஫ சர்க்கடப அல்஬? 

 1) குளுக்வகளஸ்  2) சுக்வபளஸ்            3) ஃப்பக்வைளஸ்   4) கள஬க்வைளஸ் 

 

37. யளடமப்஧மத்தழல் அதழகநளகக் களணப்஧டும் த஦ிநம் 

 1) களல்சழனம்   2) வசளடினம்   3) ம஧ளட்ைளசழனம்   4) அவனளடின் 
 

38.  இது ஒபே இபட்டை ஆன்டிென்  

 1) MMR   2) DT    3) TAB     4) BCG 

 

39. ஋ந்த அடநப்பு இனற்டக ஧ளதுகளப்ட஧ ஆதரிக்கழ஫து? 

 1) UNO   2) UNESCO   3) IUCN    4) WHO 

 

40. ஋ந்த ஥ீர் யளழ்த் தளயபத்தழற்கு வயர்கள் இல்ட஬? 

 1) டலட்ரில்஬ள  2) யள஬ழஸ்஦ரீினள  3) மயங்களனத்தளநடப  4) உல்ஃ஧ினள 
 

r%f mwptpay; 
 

41.   1916 இல் யைகை஬ழல் ஥டைம஧ற்஫ கைற்வ஧ளர்___________ 
    1) ப௃தல்஧ளல்கன் வ஧ளர்  2) இபண்ைளம் ஧ளல்கன் வ஧ளர் 3) ெூட் வ஬ண்ட்வ஧ளர்  4) வயர்ைன் ப஧ார் 
 

42.   ப௃தல் உ஬கப்வ஧ளரில் பஷ்னள யி஬க காபணநா஦ உைன்஧டிக்டக ________ 
 1) மயர்மசனில்ஸ் உைன்஧டிக்டக     2) புகளமபஸ்ட் உைன்஧டிக்டக    
 3) ஬ண்ைன் உைன்஧டிக்டக    4) ஧ிவபஸ்ட்  ஬ழட்வைளவ்ஸ்க் உைன்஧டிக்டக 

 

43.   வ஥ல்சன் நண்பை஬ா சிட஫னில் இபேந்த ஆண்டுகள்______ 

   1) 29       2) 28        3) 27       4) 26  

 

44.   யிசாபடணனில் ஧ிமபஞ்சு கா஬஦ினாதிக்கம் எனும் சழற்வ஫ட்டை எள௃தினயர் ___________ 
   1) ப ாசிநின்   2) நள வச துங்   3) மலர்றளக்  4) ஸ்நட்ஸ் 
 

45.   மயய்நர் குடினபடச உபேயாக்குயதில் ப௃க்கின ஧ங்கு யகித்த கட்சி  
   1) ஥ாசிச கட்சி   2) ஧ளசழச கட்சழ  3) சப௄க ெ஦஥ளனகக் கட்சழ  4) ஒன்஫ழன கட்சழ 
 

46.   பயால்கா ஥தி கடபனில் அடநந்துள்஭ ஥கபம்________ 

   1) ம஧ர்஬ழன்   2) நிபெ஦ிச்   3) ஸ்ைா஬ின் கழவபடு  4) ைளன்சழக் 
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47.   யைக்கு நற்றும் வதற்கு யினட்஥ாம் எந்த ஆண்டு ஑ன்று பசர்க்கப்஧ட்ைது? 

   1) 1975           2) 1976         3) 1973            4) 1974 

 

48.   ஧ள஬ஸ்தீ஦த்தழன் ப௃தல் அதழ஧ர்  
   1) ஥ளசர்       2) சதளம் உவசன் .     3) ல஧ிஸ் அல் ஆசளத்      4) னளசர் அபளஃ஧த் 
  

49.   வ஥ட்ைளயிற்கு ஋தழபளக வசளயினத் ஥ளடு உபேயளக்கழன ஒப்஧ந்தம்_________ 

   1) வ஥ட்வைள ஒப்஧ந்தம்   2) யளர்சள ஒப்஧ந்தம்  3) மசன்வைள ஒப்஧ந்தம்    4) சவட்வைள ஒப்஧ந்தம்  
 

50.  ஋ந்த ஆண்டில் உைன்கட்டை ஌றுதல் (சதழ) ஒமழக்கப்஧ட்ைது  

   1) 1827           2) 1829.        3) 1826            4) 1828  
 

51.  ஧கீளரின் துனபம் என்று அடமக்கப்஧டும் ஆறு? 

   1) ஥ர்நதள        2) வகளதளயரி       3) வகளசழ.      4) தளவநளதர்  
 

52.  ஧ிப஧஬நள஦ ஧ளநீர் ப௃டிச்சு ______________ ஋஦ அடமக்கப்஧டுகழ஫து. 

   1) உ஬கழன் கூடப  2) இந்தினாயின் கூடப  3) ஧஦ி உட஫யிைம்  4) கிமக்கு இநனநட஬ 

  

53.  இந்தழன ய஦யி஬ங்கு யளரினம் அடநக்கப்஧ட்ை ஆண்டு (IBWL) 

   1) 1950           2) 1962           3) 1953          4) 1952  
 

54.  வசரளச஬ம் உனிர்க்பகா஭ வ஧ட்ைகம் அடநந்துள்஭ நா஥ி஬ம்  
   1) ஑டிசா         2) ஆந்திபப் ஧ிபபதசம்      3) தநிழ்஥ாடு       4) பகப஭ா  
 

55.  உ஬கழவ஬வன நழக ஥ீ஭நா஦ அடண  
     1) பநட்டூர் அடண      2) வகளசழ அடண     3) லழபளகுட் அடண   4) ஧க்பா ஥ங்கல் அடண  
 

56.  மதன்஦ிந்தழனளயின் நளன்மசஸ்ைர் ஋ன்று அடமக்கப்஧டும் ஥கபம்  
1) மசன்ட஦         2) வச஬ம்        3) நதுடப      4) வகளனம்புத்தூர் 
  

57.  ைளட்ைள இபேம்பு ஋ஃகு ஥ழறுய஦ம் அடநந்துள்஭ நள஥ழ஬ம்  
1) ஒடிசள.        2) ெளர்கண்ட்          3) தநழழ்஥ளடு    4) சத்தீஸ்கர் 
  

58.  இந்தழனளயில் ப௃தல் அணுநழன் ஥ழட஬னம் ஥ழறுயப்஧ட்ை நள஥ழ஬ம் 

1) குெபளத்      2) பளெஸ்தளன்         3) நகளபளஷ்டிபம்.    4) தநழழ்஥ளடு 

  

59.  சழட்டிசன் ஋னும் மசளல் ________வநாமினில் இபேந்து ம஧஫ப்஧ட்ைதளகும்  
1) கழவபக்கம்        2) ஆங்கழ஬ம்       3) ஬த்தீன்         4) ஸ்஧ள஦ிஷ் 

 

60.  கீழ்காட௃ம் எந்த யிதினின் அடிப்஧டைனில் குடினபசுத் தட஬யர் நா஥ி஬ வ஥பேக்கடி ஥ிட஬னிட஦    
     அ஫ியிக்கி஫ார். 

1) சட்ைப்஧ிரிவு 352    2) சட்ைப் ஧ிரிவு 356  3) சட்ைப்஧ிரிவு 360.    4) சட்ைப்஧ிரிவு 368  
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61.  தற்சநனம் உச்ச ஥ீதிநன்஫ம் தட஬டந ஥ீதி஧தி உட்஧ை ________ ஥ீதி஧திகட஭ வகாண்டுள்஭து.  

1) 30           2) 25            3) 28         4) 32 
 

62.  இந்தழனள________ நிக பயகநாக ய஭ர்ந்து யபேம் ஥ாைாகும்  
1) ஥ான்காயது.          2) ஐந்தாயது       3) ஆ஫ாயது           4) ஏமாயது 

 

63.  உ஬க யர்த்தக அடநப்஧ின் (WTO) தட஬டநனகம் எங்கு அடநந்துள்஭து  
1) வெ஦ியா            2) ஥ிபெனார்க்.      3) ஬ண்ைன்         4) ஧ாரிஸ் 

 

64.  இந்தழன அபசாங்கம் 1991இல்_______ அ஫ிப௃கப்஧டுத்தினது. 

      1) உ஬கநனநாக்கல்                   2) உ஬க யர்த்தக அடநப்பு  
      3) புதின வ஧ாபே஭ாதாபக் வகாள்டக     4) ,it midj;Jk; 

 

65.  வய஭ளண்டந நற்றும் யி஬ங்குகட஭ ஧மக்கப்஧டுத்துதல் வதாைங்கின கா஬ம்  
1) ஧டமன கற்கா஬ம்   2) இடைக் கற்கா஬ம்    3) புதின கற்கா஬ம்    4) வ஧பேங்கற்கா஬ம் 

 

66.  பூநத்தழன பபடகடன கைந்த ப௃தல் நாலுநி னார்?  
1) நளலுநழ மலன்஫ழ      2) வ஬ளவ஧ள பகான்றளல்வயஸ்  

3) ஧ார்த்தப஬ாநிபனா ைனஸ்    4) கி஫ிஸ்பைா஧ர் மகள஬ம்஧ஸ் 

 

67.   _________஋ன்஧யரின் யழீ்ச்சிப௅ைன் ஧னங்கபயாத ஆட்சி ப௃டிவுக்கு யந்தது  
1) ைளண்ைன்       2) மலர்஧ர்ட்       3) ம஥ப்வ஧ள஬ழனன்        4) பபா஧ஸ்஧ினர் 
 

68.   டதனல் இனந்திபத்டத கண்டு஧ிடித்தயர் னார்?                                                                       

 1) ஋஬ழனளஸ்  பய  2) ஋஬ழ-யிட்஦ி  3) சாப௃பயல் கழபளம்ைன்  4)  ம்ப்ரி பையி 
 

69.   உ஫ங்கும் எரிநட஬க்கு உதாபணம்_____________ 

1) மநௌ஦ப஬ாயா எரிநட஬( யாய் தீவு)  2) மல஬ன்ஸ் ஋ரிநட஬ (அவநரிக்க ஐக்கின ஥ாடுகள்)       

3) ஃ஧ிபெெழ எரிநட஬ (ெப்஧ான்)           4) ஧ளரிக்கழபெட்டின் எரிநட஬ (வநக்சிபகா) 
 

70.   உ஬கழவ஬வன நிக உனபநா஦ ஥ீர்யழீ்ச்சி _____________ 

1) ஥னாகபா.      2) பொக்.         3) ஏஞ்சல்       4) யிக்பைாரினா 

71.   கவழ்க்கண்ையற்஫ழல் எது இபண்ைாம் ஥ிட஬ பதாற்஫ம்?    

1) ஆசழனள     2) தக்காண ஧ைீபூநி     3) குலு ஧ள்஭த்தளக்கு    4) வநரி஦ா கைற்கடப 
 

72.   நடமத்து஭ினின் யிட்ைம் ______நில்஬ி நீட்ைபேக்கு பநல் காணப்஧டும்  
1) 3      2) 4      3) 5          4) 6 

73.   சூரினன் நட஫யின்ப஧ாது கீற்று பநகங்கள் ஧஬ யண்ணத்தில் எவ்யாறு காட்சி அ஭ிக்கி஫து? 

1) வ஧ண் குதிடப யால்கள்     2) மசம்ந஫ழ ஆட்டு பநகங்கள்.     

3) கா஬ிஃப்஭யர்         4) கம்஧஭ி கற்ட஫ பநகங்கள் 

 

74.   வதசழன கைல்சார் ஥ிறுய஦ம் துயங்கப்஧ட்ை ஆண்டு  

1) 1964           2) 1965         3) 1966     4) 1967 

1022 



8 

 

75.   வ஥ளட்ைள ப௃ட஫ அ஫ிப௃கப்஧டுத்தப்஧ட்ை ஆண்டு  

1) 2012             2) 2013           3) 2014           4) 2015 
 

76.   2017 ஆம் ஆண்டில்-அங்கீகரிக்கப்஧ட்ை பதசின கட்சிக஭ின் எண்ணிக்டக 

1) 10               2) 7              3) 12            4) 8 

77.   உள்஭ளட்சழ அடநப்புக஭ின் தந்டத எ஦ அடமக்கப்஧டு஧யர் னார்? 
1) கள஦ிங் ஧ிபபு     2) ரிப்஧ன் ஧ிபபு    3) கர்சன் ஧ிபபு      4) மைல்ம஭சழ ஧ிபபு 
 

78.   இந்தழனளயில் அதிக ஧ட்ச சூரின ஆற்஫ல் உற்஧த்தி வசய்ப௅ம் நா஥ி஬ம் 

1) வகப஭ள       2) தநழழ்஥ளடு       3) வநற்கு யங்கள஭ம்       4) ஆந்தழபப் ஧ிபவதசம் 

79.   கழமபடிட் கார்டை உபேயாக்கினயர் 
1) எட்யின்       2) ொன் ஧ிக்கழன்ஸ்       3) கழல்஧ர்ட்     4) பையிட் 

 

80.   வதசழன மதளட஬ உணர்வு டநனம் (NRSC) அடநந்துள்஭ இைம்____________________________  

1) வ஧ங்களூபே      2) வசன்ட஦        3) வைல்஬ி    4) ட தபா஧ாத் 

 

fzf;F 

81.    N என்஧து ப௃தல் 13,986 ஧கா எண்க஭ின் வநாத்தம் எ஦ில் N எப்ப஧ாதும் __________ ஆல் 

    யகு஧டும். 

       1) 4   2) 6    3) ஑ற்ட஫ எண்  4) 8 

 

82.  நதிப்பு காண்க  =a  -   

1)                        2)              3)                   4)     

  

83.     ( )
5
 x 9

2
 = 3

n
 x 3  எ஦ில் n ன் நதிப்பு 

1)2    2)3    3)4   4)5 

 

84.   நதிப்பு காண்க  log2(log5625)  

1)2    2)5    3)10   4)15 

 

85.     +  = 5 எ஦ில்  𝒙 ன் நதிப்பு 

1)6    2)7    3)8   4)9 

 

86.   ஒர் ஈரி஬க்க எண்ணா஦து அதன் இ஬க்கங்கட஭ கூட்டி, ஧ின் 8 ஆல் வ஧பேக்கி 1ஐ     

  கூட்டுயதாப஬ா அல்஬து இ஬க்கங்க஭ின் யித்தினாசத்டத 13 ஆல் யகுத்து 2ஐ  

  கூட்டுயதாப஬ா அடநகி஫து எ஦ில் அந்த எண் 

1)31    2)41   3)51   4)61 
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87.      30ஐ ஥டு உறுப்஧ாக வகாண்ை ஑பே கூட்டுத்வதாைர் யரிடசனின் 11 உறுப்புக஭ின் கூடுதல் 

1) 320   2)330    3)340   4)350 

 

88.       A=   B=  நற்றும் AB=BA எ஦ில்  p ன் நதிப்ட஧க் காண்க? 

1) 4   2)-4    3)3   4)-3 

 

89.       A (3,5) நற்றும் B (1,4) ஆ஦து a𝒙 + b𝒚 = 7 ல் அடநகி஫து எ஦ில்  ‘a’ நற்றும் ‘b’ ன் கூடுதல் 

1) 1   2)0    3)-1   4)2 

 

 90.     A (- 4,- 1), B (- 2, -4), C (4, 0) நற்றும் D (2, 3) என்஫ புள்஭ிகள் ------- ஐ அடநக்கி஫து. 

1) இடணகபம்  2) வசவ்யகம்   3) சாய்சதுபம்  4) சதுபம்  

 

 91.    tan 15
0
 = 2 -   எ஦ில் cot

2 
75

0
 ன் நதிப்பு  

1) 7+    2)7 - 2     3)7 - 4    4)7 + 4  

 

 92.     ஑பே பகாணத்தின் நிடக ஥ிபப்பு பகாணநா஦து அதன் ஥ிபப்புக் பகாணத்டதப் ப஧ால்    

     ப௄ன்று நைங்கு எ஦ில் அந்த பகாணம் 

1) 40
0
    2)35

0
    3)50

0
   4)45

0 

 

 93.  ஑பே சதுபத்தின் ப௄ட஬ யிட்ை அ஭வு  16 வச.நீ எ஦ில் அதன் ஧க்கத்தின் அ஭வு 

1) 8  வச.நீ  2)2  வச.நீ  3)4  வச.நீ   4)2  வச.நீ 

 

 94.     ஆப அ஭வு 20 வச.நீ நற்றும் 37 வச.நீ வகாண்ை இபே யட்ைங்கள் A நற்றும் B என்஫    

  புள்஭ிக஭ில் வயட்டிக்வகாள்கின்஫஦. O1 நற்றும் O2 என்஧஦ அயற்஫ின் டநனங்கள்.    

  பநலும் AB=24 வச.நீ எ஦ில் O1O2 ற்கு இடைப்஧ட்ை வதாட஬வு 

1) 44 வச.நீ   2) 51 வச.நீ   3)40.5 வச.நீ    4)45 வச.நீ  

 

 95.  ஑பே ப௃க்பகாண யடிய நட஦னின் ஧க்கங்கள் 3:5:7 என்஫ யிகிதத்தில் அடநந்துள்஭து.  

      பநலும் அதன் சுற்஫஭வு 300 நீ எ஦ில். அதன் ஧பப்பு னாது? 

1)1500  ச.வச.நீ 2)1500  ச.வச.நீ  3)1425  ச.வச.நீ   4)1500 ச.வச.நீ 

 

 96.   PQRS என்஫ இடணகபத்தில் PQ=10 வச.நீ. ஧க்கங்கள்  PQ நற்றும் SP ஆகின  

      ஧க்கங்களுக்கா஦ குத்துனபங்கள் ப௃ட஫பன 6 வச.நீ, 8 வச.நீ எ஦ில் SP அ஭வு காண்க? 

1) 2.5 வச.நீ   2) 5 வச.நீ  3) 7.5 வச.நீ   4)10 வச.நீ 
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 97.  யட்ைடநனத்டதப௅ம் ஥ாணின் டநனப்புள்஭ிடனப௅ம் இடணக்கும் பகாடு 

1) ஥ாணிற்கு இடண    2) ஥ாணிற்கு வசங்குத்து  

3) ஥ாணிற்கு சநம்    4) ஥ாணிற்கு வதாடுபகாடு 

 

 98.  154 ச.நீ தடபப்஧பப்பும் 24 நீ உனபப௃ம் உடைன கூம்பு யடிய கூைாபம் அடநக்க    

  பதடயப்஧டும் கித்தா஦ின் அ஭வு?  

1) 700 ச.நீ.  2) 550 ச.நீ  3) 500 ச.நீ   4) 450 ச.நீ  

 

 99.  ஑பே ஥ிகழ்வயண் ஧ட்டின஬ில் இடை஥ிட஬ நதிப்வ஧ண் ஧ிரிவு இடைவய஭ி ப௃ட஫பன 10  

      நற்றும் 6 எ஦ில் ஧ிரிவு இடைவய஭ினின் கீழ் எல்ட஬டனக் காண்க. 

1) 6   2)7   3)8   4)12 

 

 100.    ஑பே யகுப்஧ில் 30% நாணயர்கள் ஆங்கி஬த்டதப௅ம் 20% நாணயர்கள் இந்திடனப௅ம்  

      நற்றும் 10% நாணயர்கள் இபண்டைப௅ம் பதாோ்வு வசய்த஦ாோ் எ஦ில் சநயாய்ப்பு  
      ப௃ட஫னில் ஑பே நாணயட஦ பதாோ்ந்வதடுத்தால் அயன் ஆங்கி஬ம் அல்஬து இந்திடன  

      பதாோ்வு வசய்யதற்கா஦ ஥ிகழ்தகவு என்஦? 

1)              2)             3)                 4)      
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உத்ததச தவலைக்காக மட்டும் 

 


